Axial Joint

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




MAKE

ACURA
ALFA ROMEO
AUDI

BMW
BUICK
CADILLAC
CHEVROLET
CHRYSLER
CITROEN
DACIA
DAEWOO
DAIHATSU
DODGE
FIAT

FORD
GMC
HONDA
HYUNDAI
INFINITI
ISUzZU
IVECO
JAGUAR
JEEP

KIA
LANCIA
LAND ROVER
LEXUS
LINCOLN
MAZDA
MERCEDES
MERCURY
MINI
MITSUBISHI
MOSKOVICH
NISSAN
OPEL
PEUGEOT
PONTIAC
PORSCHE
PROTON
RENAULT
ROVER
SAAB
SATURN
SEAT
SKODA
SMART
SSANGYONG
SUBARU
SUZUK
TALBOT

CONTENTS

PAGE

517
8/11
12717
181724
25127
281729
30/38
39/41
42148
49/51
52 /54
55/ 56
57 /59
60 /69
70/ 82
83 /84
85/91
92/100
101/102
103 /105
106 /107
108 /109
110 /111
112/119
120/123
124 /126
127 /129
130/131
132/139
140/ 147
148 /149
150/ 151
152 /157
158 /159
160/ 169
170/176
177 /184
185/ 186
187 /189
190/ 191
192 /202
203 /204
205/206
207 /208
209/213
214 /1217
218/219
220/221
2221225
226 /229
230/231

MAKE

TOYOTA
VAUXHALL
VOLKSWAGEN
VOLVO

YUGO

PAGE

2327241
2421244
245/ 255
256 / 261
262 /263



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com




Rot sy

== Land ACURA
CL YA4 2001-2003
|
HO-13363
Axial Joint
q' Front
53010S84A01
EL 2nd Gen 2001-2005
| S
HO-13256
Axial Joint
- i Front
53521S5A003
ILX 2013-2016
| I
HO-13453
& N Axial Joint
Front
53010TROAO1
MDX YD1 2001-2006
| =,
HO-13643
N Axial Joint
\. Front
. 53010S9VA01
MDX YD2 2007-2013
| |
AC-13103
N Axial Joint
\.‘A‘\: Front
- 53010STXAO01
2nd Gen 2013-2018
|
AC-13213
Axial Joint
Front

* Name of vehicles, models, Iogos,m‘l@f@@ﬁe ‘bthers in this document are used for reference purposes only.

parsrot.com 5 info@parsrot.com



Rot sy

mw Land ACURA
TL 2nd Gen, UA4-UA5 1999-2003
.|

HO-13363

Axial Joint

53010S84A01
TL 3rd Gen, UA6-UA7 2003-2008
.|

4

HO-13353

Axial Joint
Front

53010SDAAO1

4th Gen, UA8-UA9

2009-2014

TSX

AC-13113 AC-13203
Axial Joint Axial Joint
Front Front

53610TK4A01 53010STKAO1

1st Gen, CL9

2004-2008

d

TSX

HO-13353

Axial Joint
Front
53010SDAA01

2nd Gen CU2

2009-2014

4 "

l‘ ‘
)
¥

HO-13383

Axial Joint

Front
M14X1,5-L=131mm

53610TL1GO1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

6

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 7 info@parsrot.com



Rof
= Land ALFA ROMEO
145 930 1994-2001
|
AF-13153 AF-13203
Axial Joint Axial Joint
e Front Inner Front Inner —————umi
Only:2.0ltH.D M12x1,5-L=267mm PowerSteering M12x1,5Rht-L=285mm
9947361 9944452
146 930 1994-2001
| |
AF-13203 AF-13153
Axial Joint Axial Joint
p——— Front Inner Front Inner e
PowerSteering M12x1,5Rht-L=285mm Only:2.0tH.D M12x1,5-L=267mm
9944452 9947361
147 937 2000-2010
| |
AF-13313
Axial Joint
* Front
M14x1,5Rht-L=204mm
9947923
155 167 1992-1998
|
AF-13153 AF-13203
Axial Joint Axial Joint
Front Inner Front Inner PR
Only:2.0ItH.D M12x1,5-L=267mm PowerSteering M12x1,5Rht-L=285mm
9947361 9944452
932 1997-2006
|
AF-13313
Axial Joint
Front
M14x1,5Rht-L=204mm
9947923
939 2005-2011
|
AF-13150
Axial Joint
Front

M20x1,5-L =230.5mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 11363107 8 info@parsrot.com



Rot sy

M16x1,5Rht-L=303mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

9750001180

9

= Land ALFA ROMEO
164 1987-1998
|
AF-13403
Axial Joint
—q Front
M14x1.5Rht-L=263.8mm
9945565
166 936 1998-2007
| |
AF-13323
Axial Joint
—E‘E‘G' Front Inner
M14x1,5Rht-L=218.5mm
9948297
75 1985-1992
| |
AF-13173
Axial Joint
--.—.::—:ﬂ- Front
Powersteering M14x1,5-L=225.8mm
60734829
90 1984-1987
| |
AF-13173
Axial Joint
- = =i Front
Powersteering M14x1,5-L=225.8mm
60734829
ARG 1985-1989
| |
FT-13754
Axial Joint
m‘ Front
M16x1,5Rht-L=303mm
9750001180
ARS8 1985-1989
| |
FT-13754
Axial Joint
= Front
info@parsrot.com

parsrot.com



Rot sy

PowerSteering M12x1,5Rht-L=285mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

9944452

10

= Land ALFA ROMEO
GIULIETTA 940 2010-2016
|
AF-13353
N Axial Joint
Front
M16X1,5-L=330mm
50521026
GT 937 2003-2010
| |
AF-13323 AF-13313
Axial Joint Axial Joint
—EG. Front Inner Front m
M14x1,5Rht-L=218.5mm M14x1,5Rht-L=204mm
9948297 9947923
GTV 916 1994-2005
| |
AF-13153 AF-13203
Axial Joint Axial Joint
————————mfe Front Inner Front Inner p———— )
Only:2.0ItH.D M12x1,5-L=267mm PowerSteering M12x1,5Rht-L=285mm
9947361 9944452
MILANO 1985-1992
| |
AF-13173
Axial Joint
- = =i Front
Powersteering M14x1,5-L=225.8mm
60734829
MITO 2008-2016
| |
OP-13183
Axial Joint
e —— - Front
M14x1,5-L=289mm
93189022
SPIDER 167 1992-1998
| |
AF-13203
Axial Joint
pR—— Front Inner
info@parsrot.com

parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 11 info@parsrot.com



Rot sy

= Land AUDI
A1 8X1 2010 after

AU-13863 VW-13923
Axial Joint Axial Joint

Front Front
(8XA,8XF,8XK) L=312mm/M14x1.5 M14x1,5-L=313mm

6C0423810C 820419810C

1

| ‘
]
I |

A2 2000-2005
| |
AU-13853 VW-13923
Axial Joint Axial Joint
Front Front
PowerSteering M14x1,5-L=313mm
820423804F 820419810C
A3 8L1 1996-2003
| |
AU-13503 AU-13543
Axial Joint Axial Joint
e p———f )= Front Inner Front ————
Ch.8L-W-050-423-> M14x1,5-L=320mm ﬁqg(c%gighvlil;%%%#‘%?
1J0422807A 1JO422’821A
A3 8P1 2003-2012
] |
VW-13553
Axial Joint
—— Front Inner
M16x1,5-L=310mm
1K0423810A
A3 8v1 2012 after
| |
VW-13553
Axial Joint
-~ Front Inner
M16x1,5-L=310mm
1K0423810A
A4 8D2, 8E5, B5 1994-2001
| |
AU-13512
Axial Joint

M14x1.5Rht-1 =119,5mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

4D0422821 12

info@parsrot.com



A
&Ilana' AUDI

A4 8E2, 8E5, B6 2001-2004

AU-13512

Axial Joint

Front
M14x1.5Rht-L=119,5mm

4D0422821

;

A4 8EC, 8ED 2004-2008

AU-13512

Axial Joint

Front
M14x1.5Rht-L=119,5mm

4D0422821

d

A4 8K2, 8K5 2007-2015

AU-13573

P~ Axial Joint

Front
M16X1,5-L=225mm

8J0423810

A4 B9 2015 after

AU-13733

Axial Joint
Front
8W0423810A

"
.||
|

I |

8T3 2007-2015

AU-13573

Axial Joint

Front
M16X1,5-L=225mm

8J0423810

F53-F57 2016 after

AU-13733

Axial Joint
Front

* Name of vehicles, models, logos, SYVOAR383 A thers in this document are used for reference purposes only.

parsrot.com 13 info@parsrot.com



A
&Ilana' AUDI

A6 4B, C5 1997-2005

AU-13512

Axial Joint

Front
M14x1.5Rht-L=119,5mm

4D0422821

4F2, C6 2005-2011

AU-13612

Axial Joint

Front
M14x1,5Rht-L=139.5mm

4F0422821

A6 4G2, C5 2011-2017

AU-13830

Axial Joint

Front
M16x1.5/L=236

4G0423810A

A8 4D2, 4D8 1994-2002

AU-13512

Axial Joint

|
M14x1.5Rht-L=119,5mm

4D0422821

A8 4E 2002-2010

AU-13812

Axial Joint

|
ﬂ Front
M16x1,5Rht-L=127mm

4E0419821

A8 4H 2010-2018

AU-13830 AU-13833

Axial Joint Axial Joint —

%\

]I ‘
| |
¥y

Front Front Inner
M16x1.5/L=236 M16x1.5/L=226

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

4G0423810A 4 4H0422810A

parsrot.com 1 info@parsrot.com



Rot sy

== Land AUDI
Q5 S8R 2008-2016
|
AU-13573
&N Axial Joint
\ Front
M16X1,5-L=225mm
h 80423810
Q5 FY 2017 after
| |
AU-13723
N Axial Joint
' \: Front
. 4M0423810C
Q7 4L 2006-2015
| |
VW-13213
Axial Joint
— — . Front
M16x1,5Rht-L=287,5mm
7L0422821
Q7 4M 2017 after
| |
AU-13723
P~~~ Axial Joint
‘. Front
. 4M0423810C
TT 8J3 2006-2014
| |
AU-13833
N Axial Joint
\ Front Inner
' M16x1.5/L=226
- 4H0422810A
TT 8N3, ROADSTER, 8N9 1999-2006
| |
AU-13593 AU-13594
Axial Joint Axial Joint N
e Front Front )

‘ M16x1.5-L=330mm
* Name of vehicles, models, logos, OE numbers and others inGMNQALZ8MEe used for reference purposes only.

parsrot.com 8N0422807A 15 info@parsrot.com



Rot sy

== Land AUDI
|
TT FV3 2014 after
|

AU-13783

—~~ Axial Joint

Front

8S0423810B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 16 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 17 info@parsrot.com



A
&Ilana' BMW

1-SERIES E81, E82, E87, E88 2004-2012

BM-13153 BM-13183
N\ Axial Joint Axial Joint

Front Front Inner
M14x1,5 (ZF-RHD) M14x1,5

32216762244 32106765236

1-SERIES F20, F21 2011 after

BM-13353

Axial Joint

Front
M14X1,5L=253mm

32106799965

2-SERIES F22,F87 2014 after

BM-13123

Axial Joint
Front

32106867405

2-SERIES ACTIVE TOURER F45,F46 2014 after

BM-13123

Axial Joint
Front
32106867405

4"
|
.||
I |

3-SERIES E21 1975-1984

BM-13102 BM-13103

Axial Joint Axial Joint

Front Right
M14X1,5-L=216mm M14X1,5-L=233mm

32111116709 32111116710

|

|

3-SERIES E30 1982-1994

BM-13204 BM-13205

Axial Joint Axial Joint

Right Left
M14x1,5 M14x1,5

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

|
|

32111130451 18 32111130449

parsrot.com info@parsrot.com



Rot sy

= Land BMW
3-SERIES E36 1990-1998
|
BM-13303
Axial Joint
s ===-:.—g::: Front
M14x1,5Rht-L=205.8mm
32111136133
3-SERIES E46 1998-2005
| .|
BM-13603
Axial Joint
Front
M14x1,5-L=205mm
- 32211095950
3-SERIES E90/E91/E92/E93 2005-2011

BM-13193 BM-13183

Axial Joint Axial Joint

|

m Front Front Inner
C=(xDrive)4x4 M18X1.5  (ZF-RHD) M14x1,5

|

32106793622 32106765236

BM-13153

Axial Joint

Front

M14x1,5

32216762244
F30 2012-2018

BM-13973 BM-13353

.|
Axial Joint Axial Joint —

Front Front
i 32106799965
4-SERIES F32 2014 after

BM-13353 BM-13973

Axial Joint Axial Joint

Front Front
M14X1,5L=253mm 32106792030*

32106799965

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 19 info@parsrot.com



A
&Ilana' BMW

5-SERIES E39 1995-2003

BM-13403

Axial Joint

Front
M16X1 L=175mm

32111093670

5-SERIES E60,E61 2003-2010

BM-13673

Axial Joint

I
e Front

M16X1,5Rht
32216762403

5-SERIES F10,F11 2010-2016

BM-13903

Axial Joint

Front
M14X1,5-L=245mm

32106784716

6-SERIES E63,E64 2004-2010

BM-13673

Axial Joint

Front
M16X1,5Rht

32216762403

|

6-SERIES F06,F12,F13 2011-2016

BM-13903

L~ Axial Joint

Front
M14X1,5-L=245mm

32106784716

7-SERIES E65,E66,E67 2001-2008

BM-13663

Axial Joint

]
l‘h—-,. Front

M16x1,5-L=229mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 32216756368 20 info@parsrot.com



Rot =

mw Land BMW
7-SERIES FO01, FO2, FO3,F04 2008-2016
E——

BM-13903

&N Axial Joint

Front

M14X1,5-L=245mm

N 32106784716

i3 1st Gen 2014 after
| .
BM-13383
N Axial Joint
, ‘. \: Front
32216851410

1st Gen 2014 after

‘as

BM-13393

Axial Joint
Front

32106858672

X1 E84 2009-2016

BM-13193

Axial Joint

|
m Front

C=(xDrive)4x4 M18X1.5
32106793622

X1 F48 2015 after

BM-13123

Axial Joint
Front

32106867405

|

I“ ‘
|
¥y

X2 F39 2018 after

BM-13123

Axial Joint
Front

* Name of vehicles, models, logos, SR AR 4HABthers in this document are used for reference purposes only.

parsrot.com 21 info@parsrot.com



A
&Ilana' BMW

X3 E83 2004-2010

BM-13803

— Axial Joint

Front
M14x1,5Rht-L=219mm

32303418204

X3 F25 2010-2016

BM-13883

Axial Joint

|
"I
|

¥y

Front
M16X1,5

32106787472

X4 F26 2014-2018

BM-13883

Axial Joint

Front
M16X1,5

32106787472

X5 ES3 2000-2007

BM-13803

Axial Joint

Front
M14x1,5Rht-L=219mm

32303418204

X5 F15, F85 2012 after

BM-13813 BM-13943

Axial Joint Axial Joint
Front Front

32106858737 32106863859

M
7\
I“ ‘
|
F |
r

F16,F86 2014 after

BM-13943 BM-13813

.|
Axial Joint Axial Joint —

Front Front

* Name of vehicles, models, logos, S210RBE3BaBthers inIAd QRBHEA 3% used for reference purposes only.

parsrot.com 22 info@parsrot.com



A
&Ilana' BMW

Z4 E85 2003-2009

BM-13603

— Axial Joint

Front
M14x1,5-L=205mm

32211095950

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 23 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 24 info@parsrot.com



—
sy L and

BUICK

ENCLAVE

1st Gen

2008-2015

CH-13913

— Axial Joint

Front

20817752

2012-2016

CH-13253

Axial Joint

Front
witheps

95952929

LACROSSE

2nd Gen

2010-2016

BU-13153

Axial Joint

Front
withoutperformancepackage

13271998

LESABRE

CH-13333
Axial Joint
Front

1609181

8th Gen

2000-2005

CH-13653

Axial Joint
Front
15221006

"
.||
|

I |

1st Gen

2003-2007

CH-13183
Axial Joint
Front Inner

26100288

|

I“ ‘
|
¥y

5th Gen

2011-2016

CH-13336

Axial Joint

Front
2.482.5L.With19wheels.

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 1609183

25

info@parsrot.com



Rot sy

== Land BUICK
I —————————
RENDEZVOUS 2002-2007
|

CH-13653

Pt Axial Joint

’ Front

15221006

OP-13483 OP-13484

Axial Joint Axial Joint

Front Front
Type:POCNJ1 M16X1,5-L=291mm Type:POCNJO M16X1,5-L=288mm

1609027 1609029

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 26 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 27 info@parsrot.com



Rot sy

== Land CADILLAC
DEVILLE 8th Gen 2000-2005
|

CH-13653

N Axial Joint

) ! Front

_ 15221006
2nd Gen, GMT800 2001-2006
|

CD-13103

Axial Joint

Front
M14x1,5-L=300mm

15295861

3rd Gen, GMT900

2007-2014

CH-13893

Axial Joint
Front

19178561

XLR 1st Gen

2004-2009

CH-13500

Axial Joint
Front
26055105

CH-13513
Axial Joint

Front

19168108

1st Gen

2013 after

BU-13153

Axial Joint

Front
withoutperformancepackage

13271998

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

28

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 29 info@parsrot.com



—
sy L and

CHEVROLET

AVALANCHE

1500, GMT800

2001-2006

CH-13430

Axial Joint
Rear
26091588

CH-13433
Axial Joint
Front Inner

19152329

CH-13433

. Axial Joint
' Front Inner

19152329

CH-13430
Axial Joint

Rear

26091588

AVEO T250

2005-2011

CH-13203

Axial Joint

FE——————— Front
M12x1,5Rht-L=201mm

3

96535300

AVEO T300

2011-2016

CH-13253

Axial Joint

Front
witheps

95952929

%\

]I ‘
| |
¥y

CAMARO

4th Gen

1993-2002

CH-13653

Axial Joint
Front
15221006

5th Gen

2010-2015

CH-13633

Axial Joint
Front

92227430

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

30

info@parsrot.com



Rot sy

== Land CHEVROLET
CAPTIVA 2006-2018
|

CH-13603

Axial Joint

Front

M14x1,5

- 96626521
CAPTIVA SPORT 2012-2018
.|

CH-13223

Axial Joint

Front

POWER/ELECTRIC

- 19149839
CAVALIER 3rd Gen 1995-2005
| .|

CH-13873

& N Axial Joint

Front

_ 26026745
COLORADO 1st Gen 2003-2012

CH-13372 CH-13373

Axial Joint Axial Joint

F Y
L |
Ill ‘
|
I |

Front Inner Front Inner
with4wd without4wd

89060621 26095456

CORVETTE C4 1984-1996
| |
CH-13653
Axial Joint
Front
_ 15221006
CORVETTE C5 1997-2004

CH-13500 CH-13503

|
— Axial Joint Axial Joint

|

Front Rear

* Name of vehicles, models, logos, OE n@faD:H%thers ind898R4@5ht are used for reference purposes only.

parsrot.com 31 info@parsrot.com



Rot sy

== Land CHEVROLET
CORVETTE C6 2005-2013
|
CH-13510 CH-13513
Axial Joint Axial Joint
Rear Front
_ 88955490 19168108
CORVETTE C7 2014 after
| |
CH-13523
Pam Axial Joint
, | \: Front
_ 22913277
2009-2016
|
CH-13143
Axial Joint
Front
M16x1,5-L=295mm
13278358
CRUZE 2nd Gen 2016 after
| |
OP-13523
N Axial Joint
:"',’" ‘. Front
‘ B 13464344
V250 2005-2011
|
CH-13113
Axial Joint
Front
M14X1,5-L=356mm
- 93740701
EQUINOX 2005-2009
| |
CH-13223
= Axial Joint
Front
* Name of vehicles modelsﬂ%\c/)\leORE/nEuanllE)g;r aﬁlict:)thers in this document are used for reference purposes only.
parsrot.com | | | 19149839 32 info@parsrot.com



Rot sy

== Land CHEVROLET
Je]V]]\[0) ¢ 2nd Gen 2010-2017
|
CH-13232 CH-13233
Axial Joint Axial Joint
Front Inner Front
electrictype POWER/HYDRAULIC
- 19207056 19210063
2nd Gen 2003-2014
|
CH-13453 CH-13543
Axial Joint Axial Joint —
Front Inner Front Inner
B 19207100 (PowerCon.)
19257595

IMPALA

8th, 9th Gen

2000-2013

CH-13273

Axial Joint
Front

26021769

LACETTI

J200(OPTRA)

2003-2012

CH-13303

Axial Joint

#’:-_1"21 = Front
M14X1,5Rht-L=285.5mm

96061907

6th Gen

1997-2005

CH-13343
Axial Joint
Front

26073562

MALIBU

7th Gen

2004-2012

CH-13323

|
— Axial Joint

Front

* Name of vehicles, models, logos, OE n@PH4hE Gthers in this document are used for reference purposes only.

parsrot.com

33

info@parsrot.com



Rot sy

= Land CHEVROLET
MALIBU 8th Gen 2013-2016
. |

CH-13337 CH-13333
Axial Joint Axial Joint

Front Front
Without19wheels.Withride&handlingpkg. 1609181

13354600

CH-13336

o~ Axial Joint

Front
2.4&2.5L.With19wheels.

1609183

N300 ( Argentina) 2006 after

CH-13753

Axial Joint
Front

23868906

|

I“ ‘
|
¥y

OPTRA J200 2003-2012

CH-13303

Axial Joint

M — Front
M14X1,5Rht-L=285.5mm

96061907

REZZO U100(VIVANT) 2004-2009

CH-13403

Axial Joint

Front
M14x1,5-L=238,7mm

C521564

|

SILVERADO 3rd Gen 2014-2019

CH-13473

Axial Joint
Front Inner

22913605

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 34 info@parsrot.com



ﬂo[n
= Land CHEVROLET

SILVERADO 1500 1st Gen, GMTS800 1999-2006

CD-13103

Axial Joint

Front
M14x1,5-L=300mm

15295861

M300 2010-2016

CH-13803 OP-13933

Pt
%
I‘I ‘
|
F
r

Axial Joint Axial Joint
Front Front
M12X1,25-L=244mm 05371542
- 95967294
SUBURBAN 9th Gen 2000-2006

CH-13430 CH-13433

|
P~ Axial Joint Axial Joint —

Rear Front Inner

26091588 19152329

TACUMA 2000-2008
CH-13403
Axial Joint
c’:‘___ . Front
M14x1,5-L.=238,7mm
C521564

2nd Gen, GMT800 2000-2006

CH-13433

Axial Joint
Front Inner

19152329

TAHOE 3rd Gen, GMT900 2007-2014

CH-13893

Axial Joint
Front

* Name of vehicles, models, logos, OE ndfBLASEHE bthers in this document are used for reference purposes only.

parsrot.com 35 info@parsrot.com



Rot sy

= Land CHEVROLET
TORNADO 2003-2016
|
CH-13703
Axial Joint
Front
M14X1,5-L=275mm
- 93388624
TRACKER 2nd Gen 1998-2005
| |
CH-13923
N Axial Joint
! Front
_ 91175548
TRAILBLAZER 1st Gen 2002-2009
|
CH-13183
Axial Joint
Front Inner
_ 26100288
TRAVERSE 1st Gen 2009-2015
| |
CH-13913
N Axial Joint
g Front
. 20817752
VENTURE 1997-2005
| |
CH-13653
Axial Joint
Front
_ 15221006
VOLT 1st Gen 2010-2015
|
CH-13143
Axial Joint
Front

M16x1,5-L=295mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 13278358 36 info@parsrot.com



ﬂo[n
= Land CHEVROLET

VOLT 2nd Gen 2016-2019

OP-13523

= Axial Joint
' Front
13464344

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 37 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 38 info@parsrot.com



—
sy L and

CHRYSLER

200 1st Gen

2011-2014

CR-13163

— Axial Joint

Front

68040223AE

200 2nd Gen

2015 after

DO-13253

Axial Joint
Front

68164072AB

1st Gen

2005-2010

CR-13303

Axial Joint

Front
M15x1.5-L=323.5mm

680288331AR

300 2nd Gen

2011-2017

CR-13313

Axial Joint

Front
4x4

68158379AA

DO-13143
Axial Joint

Front
68158377AA

1995-2001

CR-13103

Axial Joint

Front
M14x1,5

4743935AD

GRAND VOYAGER

v

2000-2008

CR-13103

|
— Axial Joint

Front

M14x1,5
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4743935AD

39

info@parsrot.com



Rot sy

== Land CHRYSLER
SEBRING JS 3rd Gen 2007-2010
|
CR-13163
N Axial Joint
Front
68040223AE
TOWN & COUNTRY \'} 2008-2016
| |
CR-13133 CR-13143
Pam Axial Joint Axial Joint N
8 ! Front Front "\ !
RWD  6g040225AA
68157856AA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 40 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 41 info@parsrot.com



Rot sy

== Land CITROEN
AX 1986-1991
|
CIT-13303
Axial Joint
= Front
M14x1,5Rht/Lht-L=380mm
95069129
BERLINGO M 2008-2018
| |
PG-13433
Axial Joint
_E#_. Front
M14x1,5-L=254.7mm
3812F4
BERLINGO MF 1996 after
| |
CIT-13214
Axial Joint
—_—a Front
M14x1,5Rht-L=335.5mm
96048214

1982-1994
|
CIT-13106
Axial Joint
Front
M14x1,5-L=123mm
95495440
2005-2014
|
PG-13173
Axial Joint
Front
M12X1,25-L=224mm
455000H010
| 2014 after
|
PG-13173
Axial Joint
Front

M12X1,25-L=224mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 455000H010 42 info@parsrot.com



Rot sy

== Land CITROEN
C2 JM 2003-2009
|
CIT-13553
Axial Joint
- = i Front
M14x1,5-L=235mm
38120
C25 1981-1993
| |
FT-13754
Axial Joint
m‘ Front
M16x1,5Rht-L=303mm
9750001180
C3 FC 2003-2009
|
CIT-13553
Axial Joint
Front
M14x1,5-L=235mm
38120
Il 2009-2016
|
CIT-13563
Axial Joint
Front
M14x1,5-L=245mm
3812F6
2009-2017
|
PG-13273
Axial Joint
Front
M16x1,5-L=213mm
381200000000
B7 2009 after
|
PG-13663
Axial Joint
Front

M14x1,5-L=272mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3812F2 43 info@parsrot.com



Rot sy

= Land CITROEN
(07} LA 2004-2009
|
PG-13653 PG-13654
Axial Joint Axial Joint
- Front Front —_ﬁ
Ch.No:->10310 M14x1,5-L=322mm Ch.N0:10311-> M14x1,5-L=340mm
3812 381200000
C4 GRAND PICASSO UA 2007-2013
|
CIT-13333
Axial Joint
Front
M16x1,5-L=308.5mm
- 3812000000000
C4 PICASSO | 2013-2018
| |
CIT-13343
Axial Joint
Front
1610817680
C5 DC 2001-2004
| |
CIT-13603
Axial Joint
a0 Front
M16x1,5-L=177mm
3812C8
C5 RC 2004-2008
| |
PG-13463
Axial Joint
w Front
M14x1,5-L=103mm
3817000
C5 RD 2008-2015
| |
CIT-13613
A Axial Joint
. ‘ Front

M14X1.5-L=129mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3B12F3 44 info@parsrot.com



Rot sy

== Land CITROEN
C6 2005-2012
|
PG-13463
Axial Joint
w Front
M14x1,5-L=103mm
3817000
(0%} 2002-2014
| .|
FT-13793
Axial Joint
| e —— Front
M14x1,5-L=308mm
77362280
DS3 2009-2016
| .|
CIT-13563
Axial Joint
Front
M14x1,5-L=245mm
- 3812F6

] |
CIT-13653
— Axial Joint
Front
3812F7
JUMPER 1994-2002
| |
FT-13764 FT-13765
Axial Joint Axial Joint
- T Front Front T
ManualSteering M16x1,5Rht-L=318mm PowerSteering M16x1,5Rht-L=318mm
9945385 9945836
JUMPER 2002-2006
| |
FT-13764
Axial Joint
-—D Front

ManualSteering M16x1,5Rht-L=318mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 9945385

info@parsrot.com



—
sy L and

CITROEN

JUMPER

2006 after

FT-13813

Axial Joint

Front
M16x1,5-L=260mm

1359226080

|

JUMPY EVANSION

1995-2003

FT-13743

Axial Joint

|
_—

JUMPY

Front Inner
M14x1,5-L=309mm

9566950880

2004-2006

FT-13463

Axial Joint

Front Inner
M14x1,5Rht-L=309.3mm

9947713

2007-2016

FT-13833

Axial Joint

Front
M14x1,5-L.=304.7mm

3812F0

C15

1982-1997

PG-13202

Axial Joint

Front Inner
M14x1,5-L=314mm

96136394

VISA C15

1984-1997

PG-13501

Axial Joint

]
—=—=-=’ Front Inner

* Name of vehicles, models, logos, OE nQB$a8thers in this document are used for reference purposes only.

parsrot.com

46

info@parsrot.com



CITROEN

XANTIA BREAK

1993-2003

CIT-13203

Axial Joint

:T:t::@: Front
M14x1,5-L=312mm

381295

PG-13202
Axial Joint

Front Inner
M14x1,5-L=314mm

96136394

XM BREAK

|

1994-2000

CIT-13504

Axial Joint

|
s Front

M14x1,5Rht-L=295mm
96032460

XSARA

1997-2005

CIT-13214

Axial Joint

Front
M14x1,5Rht-L=335.5mm

96048214

|

XSARA PICASSO

1999-2012

CIT-13423

Axial Joint

Front
M14x1,5

3812C6

|

ZX

1991-1997

CIT-13214

Axial Joint

Front
M14x1,5Rht-L=335.5mm

96048214

|

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

a7

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 48 info@parsrot.com



Rot sy

mw Land DACIA
LOGAN (LS) 2004-2012
.|

DAC-13303

Axial Joint

-zﬁlz_- ) Front

M14x1,5-L=193mm
6001547606

Il 2012 after

RN-13783

Axial Joint

Front
M14X1,5-L=193mm

485213172R

(KS) 2007-2013

DAC-13303

Axial Joint

Front
M14x1,5-L=193mm

6001547606

PICK-UP 1975-2006

DAC-13103

Axial Joint

I
—W Front

M14x1.5-L=195mm
6001545023

SANDERO I 2008-2012

DAC-13303

Axial Joint

Front
M14x1,5-L=193mm

6001547606

|

SANDERO ! 2013 after

RN-13783

Axial Joint

%\

]I ‘
| |
¥y

Front
M14X1,5-L=193mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 485213172R 49 info@parsrot.com



—
sy L and

SOLENZO

1

(S.NOVA)

DAC-13203 DAC-13204
Axial Joint Axial Joint

Front Front
ManuelSteering M14x1,5-L=271mm TRWSt.Pow.St. M14x1,5L=285mm

6001548426 6001546524

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

DACIA

2003-2007

parsrot.com

50

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 51 info@parsrot.com



Rot sy

= Land DAEWOO
KALOS 2002-2011
|
CH-13203
Axial Joint
g Front
M12x1,5Rht-L=201mm
96535300
LEGANZA 1997-2004
|
DAW-13303
Axial Joint
Front
M14x1,5-L=298mm
520838
1995-2000
|
DAW-13203 DAW-13204
Axial Joint Axial Joint =
Front Inner Front
Only:Matiz M12x1,5Rht-L=251mm M12x1,5Rht
521255
1999-2005
|
SY-13103
Axial Joint
Front
M14x1,5Rht-L=274mm
NUBIRA | 1997-2003
|
DAW-13303
Axial Joint
Front
M14x1,5-L=298mm
520838
NUBIRA Il (1.6i,1.8i) 2003-2009
| |
DAW-13313
Axial Joint
| Front

M14x1,5-L=345mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 020838

52

info@parsrot.com



—
sy L and

REZZO

(KLAU)

DAEWOO
2000-2011

CH-13403

Axial Joint

Front
M14x1,5-L=238,7mm

C521564

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

53

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 54 info@parsrot.com



Rot sy

== Land DAIHATSU
APPLAUSE 1989-2000
|
DH-13203
Axial Joint
= Front
M12x1,25Rht-L=256mm
4550387102
SIRION 1998-2005
| .|
DH-13403
Axial Joint
Front
M12x1.25-L=233mm
4550397401000
SIRION Il 2005-2015

DH-13413 DH-13423
Axial Joint Axial Joint

Front Inner Front
M12x1,25-L=243mm Type:1.0iH/Back M14X1,5-L=243mm

45503B1010 45503B1020

TERIOS 1(J1) 1999-2005

DH-13303

Axial Joint

Front
M14x1,5-L=311mm

4546087401

|

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 55 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 56 info@parsrot.com



—
sy L and

DODGE

AVENGER

2008-2014

CR-13163

— Axial Joint
& Front
68040223AE

2007-2015

JE-13303

Axial Joint

Front
M14X1,5-L=298mm

68040224AA

CHALLENGER

4th Gen

2008 after

DO-13143

Axial Joint
Front

68158377AA

CHARGER

6th Gen

2005-2010

CR-13303

Axial Joint

Front
M15x1.5-L.=323.5mm

680288331AR

DO-13133
Axial Joint

Front
AWD

68028824AC

CR-13133

o~ Axial Joint

Front
RWD

68157856AA

7th Gen

2011 after

DO-13143

Axial Joint
Front

68158377AA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

CR-13313

Axial Joint

Front
4x4

68158379AA

parsrot.com

57

info@parsrot.com



Rot sy

== Land DODGE
DART PF 2013 after
|

DO-13253

Axial Joint

Front

. 68164072AB
DURANGO 3rd Gen 2011-2017
|

DO-13123

Axial Joint

Front

_ 68105872AB
GRAND CARAVAN \' 2008-2016
|

CR-13143

Axial Joint

Front

_ 68040225AA
RAM 1500 3rd Gen 2002-2005
| |

DO-13153

N Axial Joint

g Front

68032244AA

SPRINTER 3500 W901,W902,W903 1995-2006

MB-13703

Axial Joint

Front
M16x1,5Rht-L=388mm

9014600455

|

SPRINTER 3500 W906 2006-2019

MB-13733

Axial Joint

Front

|

* Name of vehicles, models, logos, 0B9RGARRONG B thers in this document are used for reference purposes only.

parsrot.com 58 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 59 info@parsrot.com



Rot sy

mw Land FIAT
127 PANAROMA 1971-1986
|
FT-13704 FT-13708
Axial Joint Axial Joint
ﬂ Front Front _EF,I =
M14x1-L=142mm M12x1,5-L=192mm
4318655 SE141162449A
128 FAMILIARE 1969-1982
| |
FT-13704 FT-13704
Axial Joint Axial Joint
ﬂ Front Front ﬂ
M14x1-L=142mm M14x1-L=142mm
4318655 4318655
128 PANAROMA 1983-1989
| |
FT-13708
Axial Joint
—a.—_i Front
M12x1,5-L=192mm
SE141162449A
131 1974-2001
| |
FT-13201 FT-13207
Axial Joint Axial Joint
— e~ Front Front — e, ™
ManualSteering M14x1,5RhtL=284mm PowerSteering M12x1,5RhtL=285mm
4322913 59588244
| |
FT-13222
Axial Joint
Q—Z_l Front
Only AR AT PN,
2007-2016
|
FT-13363
Axial Joint
Front
M14X1,25-L=296mm
- 51965673

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



FIAT

178

1996-2013

FT-13503

Axial Joint

Front
Powersteering M14x1,5-L=282mm

7079382

FT-13504
Axial Joint

Front
ManualSteering M14x1,5-L=282mm

7079383

i

FT-13513

Axial Joint

Front
PowerSt M14x1,5Rht-L=264mm

7081851

BARCHETTA

1995-2005

FT-13453

Axial Joint

|
@:—:—w Front

Powersteering M12x1.5Rht-L=271.3mm
9945562

BRAVO

Il (198)

2007-2014

FT-13653

Axial Joint

Front
M14x1,5-L=317mm

9949217

|

BRAVO & BRAVA

182

1995-2002

FT-13405

Axial Joint

Front Inner
ManuelSteering M12x1,5-L=276.8mm

SE022162449S

i

CINQUECENTO

FT-13406

Axial Joint

W,

L |
.||
|

Y |

y

Front Inner
PowerSteering M12x1,5L=277mm

9941625

1992-1998

FT-13352

Axial Joint

Front
M12x1,5-L=285mm

7658273

|

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land FIAT
COUPE (FA-175) 1993-2000
|
AF-13203 FT-13463
Axial Joint Axial Joint
f———————m Front Inner Front Inner e
PowerSteering M12x1,5Rht-L=285mm M14x1,5Rht-L=309.3mm
9944452 9947713

(194)1.9DMULTIJET 2005-2011
| |
OP-13473
Axial Joint
—— Front Inner
M14x1,5-L=284mm
93172256
CROMA 154 1985-1996
|
FT-13406
Axial Joint
Front Inner
PowerSteering M12x1,5L=277mm
9941625
119 2001-2010
|
FT-13603 FT-13613
Axial Joint Axial Joint
Front Front e
M14x1,5-L=332mm Only:1.9JTD M14x1,5-L=293mm
98845024 98845026
Il (152) 2010 after
|
FT-13670 FT-13673
Axial Joint Axial Joint N
Front Front [ 1
M14x1,5-L=300mm(18x1,5mm) M14x1,5-L=302mm(16x1,5mm) \ ‘
26144989 98845878

1981-1994

DUCATO
|
FT-13754
Axial Joint
= Front

M16x1,5Rht-L=303mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 9750001180

info@parsrot.com



A
&Ilana' FIAT

DUCATO 10Q-14Q-1.8Q 1994-2002

FT-13764 FT-13765

Axial Joint Axial Joint

|

Front Front
ManualSteering M16x1,5Rht-L=318mm PowerSteering M16x1,5Rht-L=318mm

9945385 9945836

|

DUCATO 14Q-1.8Q 2002-2006

FT-13764

Axial Joint

|

Front
ManualSteering M16x1,5Rht-L=318mm

9945385

EGEA 356, TIPO 2015 after

FT-13433

P~ Axial Joint

Front
B=M14x1.5

52014014

FIORINO NUOVA 1988-1998

FT-13319

Axial Joint

Front
M14x1,5-L=217mm

7076231

]

FREEMONT (JC) 2011 after

CR-13163

Axial Joint
Front

68040223AE

GRANDE PUNTO 199 2005-2012

FT-13483

Axial Joint

Front
M14x1,5Rht-L=295mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

-
6y

parsrot.com 9944452 63 info@parsrot.com



—
sy L and

FIAT

IDEA

2003-2012

FT-13953

Axial Joint

(- ——— — Front

M14x1,5-L=258mm
77362502

323

2007-2016

FT-13493

Axial Joint

Front
M14x1,5-L=268.9mm

185

1996-2007

FT-13463

Axial Joint

Front Inner
M14x1,5Rht-L=309.3mm

9947713

MULTIPLA

1999-2010

FT-13463

Axial Joint

Front Inner
M14x1,5Rht-L=309.3mm

9947713

PALIO - SIENA

1996-2013

FT-13504

Axial Joint

ManualSteering M14x1,5-L=282mm
7079383

FT-13503

Axial Joint

Front
Powersteering M14x1,5-L=282mm

7079382

1

FT-13513

|
e —— Front
|

Axial Joint
- T

Front
PowerSt M14x1,5Rht-L=264mm

7081851

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



= Land FIAT
PANDA (141A) 1980-2003
|
FT-13704 FT-13319
Axial Joint Axial Joint
ﬂ Front Front *i
M14x1-L=142mm M14x1,5-L=217mm
4318655 7076231
PANDA 169 2003-2012
| |
FT-13333 FT-13343
Axial Joint Axial Joint N
-_4- Front Inner Front 1
M12x1,5Rht-L=227mm Only:4x4 M12x1,5Rht-L=237,5mm ‘

77362506
PUNTO 176 1994-1999
| |
FT-13453 FT-13452
Axial Joint Axial Joint
e m— Front Front ———
Powersteering M12x1.5Rht-L=271.3mm Manual&Powersteering
9945562 9946948
PUNTO 188 1999-2009
| |
FT-13473
Axial Joint
e Front
12x1.5Rht-L=276mm
9948343
PUNTO EVO 2008-2012
| |
FT-13483
Axial Joint
C - Front
M14x1,5Rht-L=295mm
9944452
REGATA 1983-1991
| |
FT-13201 FT-13405
Axial Joint Axial Joint
— _-' Front Front Inner ‘___ —

ManualSteering M14x1,5RhtL=284mm

ManuelSteering M12x1,5-L=276.8mm

* Name of vehicles, models, logos, OE numbers and others in this document are Used for reference purposes only.

parsrot.com 4322013

5 SE022162449S

info@parsrot.com



Rot sy

= Land FIAT
RITMO 1973-1984
|
FT-13201
Axial Joint
E—1 ﬁ Front
ManualSteering M14x1,5RhtL=284mm
4322913

RITMO

1984-1988

FT-13405

Axial Joint

Front Inner
ManuelSteering M12x1,5-L=276.8mm

SE022162449S

h-

SCUDO

1996-2002

FT-13463

Axial Joint

Front Inner
M14x1,5Rht-L=309.3mm

9947713

272

2007 after

FT-13833

Axial Joint

Front
M14x1,5-L.=304.7mm

3812F0

SEDICI

2006-2014

SZ-13503

Axial Joint

Right
M14x1,5-L=333mm

4883079J00

SEICENTO

SZ-13504

Axial Joint

Left
M14x1,5-L=333mm

4883079J10

1998-2007

FT-13352

Axial Joint

|
-_4- Front

M12x1,5-L=285mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 7658273

66

info@parsrot.com



—
sy L and

FIAT

STILO

192

2001-2010

FT-13653

Axial Joint

Front
M14x1,5-L=317mm

9949217

|

STRADA

178E

1999-2012

FT-13513

Axial Joint

Front
PowerSt M14x1,5Rht-L=264mm

7081851

|
- Ty

TEMPRA

1988-1997

FT-13405

Axial Joint

Front Inner
ManuelSteering M12x1,5-L=276.8mm

SE022162449S

FT-13406
Axial Joint

Front Inner
PowerSteering M12x1,5L=277mm

9941625

1987-2000

FT-13406

Axial Joint

Front Inner
PowerSteering M12x1,5L=277mm

9941625

356

FT-13405

Axial Joint

|

Front Inner
ManuelSteering M12x1,5-L=276.8mm

SE022162449S

2015 after

FT-13433

Axial Joint

Front
B=M14x1.5

52014014

ULYSSE 121

1994-2002

FT-13743

Axial Joint

Front Inner
M14x1,5-L=309mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 9566950880

info@parsrot.com



—
sy L and

FIAT

ULYSSE

179AX

2002-2011

FT-13793

Axial Joint

Front
M14x1,5-L=308mm

77362280

(146A/E)

1983-2001

FT-13316

Axial Joint

Front
Powersteering M12x1,5

UNO

CS

FT-13405

Axial Joint

Front Inner
ManuelSteering M12x1,5-L=276.8mm

SE022162449S

|

1983-1996

FT-13708

Axial Joint

Front
M12x1,5-L=192mm

SE141162449A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

68

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 69 info@parsrot.com



== Land FORD
B-MAX 1st Gen 2012 after
|
FO-13233
Axial Joint
ﬂ Front
14x1,5-L=294mm
8V513L519AA
C-MAX | 2004-2010
|
FO-13463
Axial Joint
Front Inner
M16x1.5,L=293mm
1377655
| 2010 after
|
FO-13463
Axial Joint
Front Inner
M16x1.5,L=293mm
1377655
| 2013 after
|
FO-13193
Axial Joint
Front
AV623280E

COURIER 1994-1996
| |
FO-13107
Axial Joint
s Front
M1/2"x20Rht-L=302mm
89FB32555BA
COURIER 1996-2001
| |
FO-13114
Axial Joint
e Front

M14x2-L=313mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com B196FB3L519BA

70

info@parsrot.com



A
&Ilana' FORD

COURIER 1st Gen 2014 after

FO-13233

Axial Joint

Front
14x1,5-L=294mm

8V513L519AA

|

CROWN VICTORIA 2nd Gen 2003-2011

FO-131003

Axial Joint
Front

8W7Z3280A

EDGE U387 2006-2014

FO-13173

Axial Joint
Front

7T4Z3280A

ESCAPE 2nd Gen 2007-2012

FO-13143

e Axial Joint
' Front

AL8Z3280B

ESCAPE 3rd Gen 2013 after

FO-13193

Axial Joint
Front

AV6Z3280E

ESCORT Europe 1983-1990

FO-13202

Axial Joint

——
e =11 Front

M1/2"x20-L=290mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 6127726 71 info@parsrot.com



A
&Ilana' FORD

ESCORT Europe 1990-2000

FO-13304

Axial Joint

Front
ManuelSteering M14x2-L324mm

91AB3L519AA

|

EXPEDITION 2nd Gen 2003-2006

FO-13573

Axial Joint
Front

2L1Z3280GA

EXPEDITION 3rd Gen(U324) 2007-2015

FO-13583

Axial Joint
Front

9L3Z3280A

EXPLORER 3rd Gen 2002-2005

FO-132003

Axial Joint
Front Inner

1L2Z3280CA

EXPLORER 4th Gen 2006-2010

FO-131023

Axial Joint
Front Inner

7L2Z3280A

EXPLORER U502 2010-2015

FO-13383

Axial Joint
Front

* Name of vehicles, models, logos, O3 3AEa32 8 thers in this document are used for reference purposes only.

parsrot.com 72 info@parsrot.com



Rot sy

= [and FORD
EXPLORER UN105/UN150 1995-2001
|
FO-13783
N Axial Joint
i ! Front
AU2Z3280A
12th Gen 2009-2015
|
FO-13593
Axial Joint
Front
GR323280C
FIESTA | 1976-1983
| |
FO-13106
Axial Joint
——— s Front
¥%X20UNFMan.St. L=260mm
6186194
FIESTA Il 1984-1989
| |
FO-13106
Axial Joint
—-ﬂ Front
¥%X20UNFMan.St. L=260mm
6186194
FIESTA 1] 1990-1994
| |
FO-13107
Axial Joint
-___—‘ Front
M1/2"x20Rht-L=302mm
89FB32555BA
FIESTA il 1994-1996
| |
FO-13340
Axial Joint
———e Front Inner

2?7x20-L=300mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com XS5C3L519AA 73 info@parsrot.com



—
sy L and

FORD

FIESTA

v

2017 after

FIESTA

FO-131093

Axial Joint
Front
2090582

IV BoxJV

1996-1998

|

FIESTA

FO-13114

Axial Joint

Front
M14x2-L=313mm

B196FB3L519BA

USA Market

2011 after

FIESTA

FO-13693

Axial Joint
Front

BE8Z3280A

2002-2008

]

FIESTA

FO-13247

Axial Joint

Front
M14x1,5-L=278mm

4472940

VI

2008-2016

|

FOCUS

FO-13233

Axial Joint

Front
14x1,5-L=294mm

8V513L519AA

| europe made

1998-2004

|

FO-13453

Axial Joint

Front
M14x2-L=343mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

98AG3L519AA 74

info@parsrot.com



Rot sy

== Land FORD
FOCUS Il europe made 2004-2011
|
FO-13463 FO-13533
Axial Joint Axial Joint
_’ Front Inner Front Inner
M16x1.5,L=293mm M16x1,5-A=L-293mm
1377655 4M513L519AB
FOCUS Il USA Type 2005-2010
| |
FO-13432 FO-13433
P Axial Joint Axial Joint —
() : Front Front
' withfixedratio. ithoutfixedratio.2009-2011,withresttravel

9S473280A 9S8473280B

FOCUS lll europe made 2011 after
| |
FO-13463 FO-13490
Axial Joint Axial Joint

_,. Front Inner Front
M16x1.5,L=293mm 'l\l;y%es(:Flgfggsgﬁrxlgr{aulicsmering
1377655 189997.8’

FOCUS Il USA Type 2012 after
] |

FO-13193

N Axial Joint

Front

! AV6Z3280E
FUSION 1st Gen usa type 2006-2012
| |

MA-13703

Axial Joint

a4 (= Front

GJBE32240
FUSION 2nd Gen 2013 after
| |

FO-13683

N Axial Joint

' | : Front

* Name of vehicles, models, logos, OBKaAE2 8 thers in this document are used for reference purposes only.

parsrot.com

75

info@parsrot.com



—
sy L and

FORD

FUSION

europe made

2003-2009

|

GALAXY

FO-13247

Axial Joint

Front
M14x1,5-L=278mm

4472940

1995-2006

|

GALAXY

VW-13753

Axial Joint

Front Inner
M14x1,5-L=182.5mm

7M0422804EF

2006-2015

|

GRANADA

FO-13973

Axial Joint

Front
M18x1,5-L=315mm

6G913280AB

1972-1982

IKON

FO-13602

Axial Joint

Front
M14x2Rht-L=250mm

15711

1999-2007

FO-13114

Axial Joint

Front
M14x2-L=313mm

B196FB3L519BA

RB

1996-2008

FO-13343 FO-13340
Axial Joint Axial Joint
Front Front Inner

only1.6LT 495gr 12??x20-L=300mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

|

parsrot.com

1250339 76 XS5C3L519AA

info@parsrot.com



Rot sy

mw Land FORD
KUGA | 2008-2013
|
FO-13463
Axial Joint
_’ Front Inner
M16x1.5,L=293mm
1377655
| 2013 after
|
FO-13663
Axial Joint
Front
M16X1,5-L=293mm
1780104
MONDEO | 1993-1996
| |
FO-13903
Axial Joint
P Front
M16X1,5-L=333mm
7294415
MONDEO Il 1996-2000
| |
FO-13923 FO-13924
Axial Joint Axial Joint
— i Front Front ——
M16x1,5-L=340mm 15"-16"Wheels M16x1,5-L=355mm
3903147 F5RC3280EA
MONDEO 1] 2000-2007
| |
FO-13923
Axial Joint
e——i Front
M16x1,5-L=340mm
3903147
MONDEO \") 2007-2014
| |
FO-13973
Axial Joint
- Front

M18x1,5-L=3156mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

6G913280AB

7

info@parsrot.com



A
&Ilana' FORD

MONDEO \" 2014 after

FO-13393

— Axial Joint

Front
Europenmade,(Electicpowersteering)

DG9C3D032BA

5th Gen 2005-2010

FO-13633

Axial Joint

Front
POWER-HYDRAULIC.Mustang2010.

9R3Z3280B

5th Gen 2010-2015

FO-13643

Axial Joint

Front

POWER-ELECTRIC.Mustan%?;v‘bh'leﬂgl\gi

BR323280B

MUSTANG 6th Gen 2016 after

FO-13593

Axial Joint
Front
GR323280C

"
.||
|

I |

ORION (1-10) 1983-1990

FO-13202

Axial Joint

——
—F Front

M1/2"x20-L=290mm
6127726

POLICE INTERCEPTOR UTILITY 2013-2016

FO-13383

Axial Joint
Front

* Name of vehicles, models, logos, O3 3AEa32 8 thers in this document are used for reference purposes only.

parsrot.com 78 info@parsrot.com



Rot sy

= Land FORD
PROBE 1993-1998

MA-13203 MA-13223

Axial Joint Axial Joint

Front Inner Front ——
M14x1,5-L=286mm M14x1,5-L=300.8mm

GJ2232250 GA2A32250

|

PUMA 1997-2002

FO-13114

Axial Joint

Front
M14x2-L=313mm

B196FB3L519BA

|

RANGER | USA Type 1998-2011

FO-13783

P~ Axial Joint
| ' Front

AU2Z3280A

RANGER TKE 2011-2019

FO-131253

Axial Joint
Front
1775547

SCORPIO 1985-1994

FO-13502

Axial Joint

Front
M14x2-L=307mm

6194368

|

SIERRA 4WD 1982-1993

FO-13403

Axial Joint

Front
M14x2-L=280mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

|

parsrot.com 6185345 79 info@parsrot.com



Rot sy

== Land FORD
S-MAX (WA6 ) 2006-2015
|

FO-13973

Axial Joint

e Front

M18x1,5-L=315mm

6G913280AB

TAUNUS 1.6 - CORTINA 1970-1982

FO-13602

Axial Joint

:._: ) Front
M14x2Rht-L=250mm

15711

TRANSIT 1987-1992
| |
FO-13712
Axial Joint
e Front
M16x1,5-L=399mm
86VB3L3519AD
TRANSIT (T12,T15) 1992-2000
] |
FO-13712
Axial Joint
T —— s Front
M16x1,5-L=399mm
86VB3L3519AD
TRANSIT (v184) 2000-2006
| |
FO-13824 FO-13825
Axial Joint Axial Joint
————ie Left Right ————i
M16x1,5-L=380mm M20x1,5-L=380mm
4602028 4577976
TRANSIT V347-348 2006-2014
| |
FO-13825 FO-13824
Axial Joint Axial Joint
_. Right Left #-’
* Name of vehicles, models. Mgchgtsg&;l%gsoﬁmthers inmﬂs,%)égdgélﬁf a3re8 Ser?or reference purposes only.
parsrot.com | | | 4577976 80 4602028 info@parsrot.com



A
&Ilana' FORD

TRANSIT V363, euro made 2014 after

FO-13893

— Axial Joint

Front
M16x1.5-L=382mm

BK213L519AA

Il europe made 2013 after

FO-13663

Axial Joint

Front
M16X1,5-L=293mm

1780104

TRANSIT CONNECT usa type 2010-2013

FO-13453

Axial Joint

|
__—-5' Front
M14x2-L=343mm

98AG3L519AA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 81 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 82 info@parsrot.com



Rot sy

== Land GMC
ACADIA 1st Gen 2007-2017
|
CH-13913
N Axial Joint
\ Front
. 20817752
2003-2014
|
CH-13453
Axial Joint
Front Inner
_ 19207100
SAVANA 2500 2003-2014
| |
CH-13543
Axial Joint
Front Inner
(PowerCon.)
19257595
YUKON 3rd Gen 2007-2014
] |
CH-13893
N Axial Joint
:ﬁl ‘. Front
! 19178561

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 84 info@parsrot.com



Rot sy

== Land HONDA
ACCORD \"} 1990-1993
|
HO-13304
Axial Joint
% Front
Only:2.0i/2.216V M14x1,5-L=139mm
GSV1211
ACCORD \"/ 1993-1998

HO-13333 HO-13304

Axial Joint Axial Joint

1

Front Inner Front
M14x1,5-L=148mm Only:2.0i/2.216V M14x1,5-L=139mm

53010SVv4000 GSv1211

]

ACCORD Vi 1998-2002
| |
HO-13363
Axial Joint
—.' Front
53010S84A01
ACCORD ViI 2003-2008
| |
HO-13353
Axial Joint
4‘ Front
53010SDAA01
ACCORD Vil 2008-2012
|
HO-13383
Axial Joint
Front
M14X1,5-L=131mm
53610TL1G01
CITY il 2002-2007

HO-13503 HO-13504

Axial Joint Axial Joint

I
—ﬂﬁ# Front Right Inner Front Left Inner
M12x1,25Rht-L=211mm M12x1,25Rht-L=211mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

|

53010SELO03 5 53011SELO03

parsrot.com 8 info@parsrot.com



Rot sy

== Land HONDA
CITY ]| 2002-2007
|
HO-13513
Axial Joint
d———m 1= Front
TRWSteering M12x1,25-L=302mm
53510SX8N01
CITY I-ll 1983-2003
| |
HO-13403
Axial Joint
q-_=—‘ Front
L=308mm/M12x1,25
CiviC v 1987-1992
| |
HO-13204 HO-13206
Axial Joint Axial Joint
% Front Inner Front Inner “::u&
M14x1,5-L=157mm M14x1,5-L=200mm
53521SH3003 53010S10003
CIvVIC IX 2012-2016
| |
HO-13453 HO-13123
Axial Joint Axial Joint N
Front Front ‘1
53010TROAO1 onlyHBversion M14x1,5 ‘
53010TVOEO1
CiviC \") 1992-1996
| |
HO-13212
Axial Joint
v Front
- - M14x1,5-L=166mm
53010S04000
CiviC Vi 1996-2001
| |
HO-13212 HO-13214
Axial Joint Axial Joint
— — Front  Front =

M14x1.,5-L=166mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Only:EuroCivic M14x1,5L.=163mm

parsrot.com

53010504000

86

info@parsrot.com



Rot sy

== Land HONDA
CIvVIC Vil 2001-2005
|
HO-13256
Axial Joint
- i Front
53521S5A003
CIvVIC VIl 2006-2012

HO-13273 HO-13292

Axial Joint Axial Joint

Front Right
M14x1,5-L=174mm M14X1,5-L=208mm

53610SNBJO1 53011SMGEO1

HO-13293

Axial Joint

Left
M14X1,5-L=208mm

53010SMGEO01

CIVIC X(FC) 2016 after

HO-13463 HO-13473

Axial Joint Axial Joint

Front Front
USATYPE EUROTYPE

53521TBAAO1 53521TEAAS51

CR-V | 1995-2002

HO-13206

Axial Joint

]
*===' Front Inner

M14x1,5-L=200mm
53010510003

CR-V ! 2002-2006

HO-13413

Axial Joint

Front
M14x1,5-L=545mm

53521S9A003

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 87 info@parsrot.com



Rot sy

= Land HONDA
CR-V ]| 2006-2011
——
HO-13423
o Axial Joint
Front
L=235.5mm/M14X1,5
53010SWCG02
CR-V v 2012-2018
—— ————
HO-13433
& N Axial Joint
( I Front
' M14x1.5-L=256
53010TOAAO1
G \Y 1987-1992

HO-13206 HO-13204
Axial Joint Axial Joint

Front Inner Front Inner
M14x1,5-L=200mm M14x1,5-L=157mm

53010510003 53521SH3003

2nd Gen

1

2007-2013

HR-V

HO-13283

Axial Joint
Front
53010TF0003

1999-2006

|

HR-V

HO-13533

Axial Joint

Front
M12x1,25-L=310mm

53010S2HJ02

2nd Gen

2016 after

J
/

HO-13523

Axial Joint
Front

* Name of vehicles, models, Iogos,ﬁa@ﬂmzwm%thers in this document are used for reference purposes only.

parsrot.com

88

info@parsrot.com



Rot sy

mw Land HONDA
JAZZ Il (GD) 2002-2008
|
HO-13504 HO-13503
Axial Joint Axial Joint
Front Left Inner Front Right Inner —t
M12x1,25Rht-L=211mm M12x1,25Rht-L=211mm

53011SEL003 53010SEL003

|

HO-13500 HO-13510
Axial Joint Axial Joint

Front Left Inner Front Right Inner
M12X1,25-L=208mm M12X1,25-L=211mm

53011SAAJO1 53010SAAJO1

JAZZ Il (GE) 2008-2014

HO-13283

Axial Joint
Front

53010TF0003

|

I“ ‘
|
¥y

ODYSSEY 3rd Gen 2005-2010

HO-13603

Axial Joint
Front

53010SHJA02

ODYSSEY 4th Gen 2011-2017

HO-13613

Axial Joint
Front
53010TK8A01

1st Gen 2003-2008

HO-13643

Axial Joint
Front

53010S9VA01

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 89 info@parsrot.com



A
&Ilana' HONDA

1st Gen from 2006 2006-2014

HO-13623
P~ Axial Joint
Front
53010SZAA01

PRELUDE VBB 1996-2001

HO-13263

Axial Joint

Front
M14x1,5-L=128mm

53010SW5000

|

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 90 info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 91 info@parsrot.com



—
sy L and

HYUNDAI

ACCENT

1994-2000

HY-13103

Axial Joint

Front Inner
(1.3It) M14x1,5-L=296mm

5654243001

|

ACCENT

HY-13204
Axial Joint

Front Inner
(1.51t) M14x1,5-L=297mm

5775522000

i

2000-2005

HY-13232

Axial Joint

i

Front
M14x1,5-L=304mm

5777525000

ACCENT

i, MC

2005-2010

HY-13343

Axial Joint

]
= — =i Front
M14x1,5-L=195.5mm

57724-1E000

ACCENT

IV, RB

2011 after

HY-13233

Axial Joint

Front
M16X1,5-L=218mm

565400U500

PRIMA/AMICA

1998-2008

HY-13603

Axial Joint

Front
M12x1.25Rht-L=265.7mm

5777502000

1996-2002

HY-13513

Axial Joint

- e Front
M14x1.,5-L=316mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 5773029001

info@parsrot.com



Rot m=y
= Land HYUNDAI

COUPE GK 2002-2009

HY-13503

Axial Joint

Front
M14x1,5-L=322mm

5778526200

|

ELANTRA 3th Gen, XD 2000-2006

HY-13503

Axial Joint

Front
M14x1,5-L=322mm

5778526200

]

ELANTRA 5th Gen, MD/UD 2012-2015

HY-13323

P~ Axial Joint

Front
M16X1,5-L=227mm

565403X000

ELANTRA AD 2016 after

HY-13623

Axial Joint

Front
56540F2000

ELANTRA J2/RD 1995-2000

HY-13103

Axial Joint

|
== ﬂ Front Inner
(1.31t) M14x1,5-L=296mm

5654243001

ELANTRA Touring Wagon 2007-2011

HY-13373

Axial Joint

Front
M14x1,5-L.=156.5mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

]

parsrot.com 265402H000 93 info@parsrot.com



Rot sy

= Land HYUNDAI
ELANTRA GT 2011-2016
. |
HY-13383
— Axial Joint
Front
56540A6000

‘ f:' .‘H
[
|
|

EXCEL 1994-1998
| |
HY-13103
Axial Joint
- Front Inner
(1.3It) M14x1,5-L=296mm
5654243001
GETZ (TB) 2002-2011
| |
HY-13703
Axial Joint
-@:-:——- Front
M14x1,5
577751C000
H1 | 2008 after

HY-13270 HY-13273
Axial Joint Axial Joint

Left Front Right
M14x1,5-L=231mm M14x1,5-L=231mm

577244H000 577244H100

H100 PICK-UP 1992-1997
| |
Mi-13204
Axial Joint
- T Front
ManuelSteering M14x1,5Rht-L=293mm
MR455425
H100 PICK-UP 1997-2004
| |
HY-13263
Axial Joint
-—b Front

M16x1.5-L=301mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com =77304F000 94 info@parsrot.com



Rot sy

= Land HYUNDAI
H100 VAN 1993-2004
|
Mi-13204
Axial Joint
- T Front
ManuelSteering M14x1,5Rht-L=293mm
MR455425
(PA) 2008-2013
|
HY-13393
Axial Joint
Front
M12x1,25-L=296mm
- 577240X000
(PB,PBT) 2008-2014
|
HY-13363
Axial Joint
Front
M16x1,5-L=222mm
577241J000
120 Il 2014 after
| |
HY-13453
N Axial Joint
:ﬁl ‘. Front
A 56540C8000
130 FD 2007-2011
| |
HY-13373
Axial Joint
ﬂ Front
M14x1,5-L=156.5mm
565402H000
130 GD 2011-2017
| |
HY-13383
N Axial Joint
:“j; | ‘ Front

* Name of vehicles, models, logos, 0BGHAONEHQAGthers in this document are used for reference purposes only.

parsrot.com

95

info@parsrot.com



Rot m=y
= Land HYUNDAI

130 PD 2017 after

HY-13383

— Axial Joint

Front

56540A6000

800 2007 after

HY-13273

Axial Joint

Front Right
M14x1,5-L=231mm

577244H100

DE 2017 after

HY-13623

Axial Joint
Front

56540F2000

IA/BA 2013 after

HY-13403

Axial Joint

Front
L=308mm/M14x1.5

5454084000

i40 (VF) 2011 after

HY-13433

Axial Joint
Front

5772432000

|

I“ ‘
|
¥y

(JC) 2010 after

HY-13364

Axial Joint

Front
M16X1,5-L=249mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 262403J000 96 info@parsrot.com



Rot sy

= Land HYUNDAI
ix35 LM 2010-2015
|
HY-13133
N Axial Joint
\ Front
M16X1,5-L=183mm
- 5772425100
KONA (015 2017 after
| |
HY-13623
Pam Axial Joint
, | \: Front
_ 56540F2000
MATRIX 2001-2010
| |
HY-13503
Axial Joint
-_—————i T Front
M14x1,5-L=322mm
5778526200
PONY EXCEL Il 1990-1994
] |
HY-13103
Axial Joint
- T Front Inner
(1.3It) M14x1,5-L=296mm
5654243001
SANTA FE I, SM 2001-2006
| |
HY-13503
Axial Joint
- Front
M14x1,5-L=322mm
5778526200
SANTA FE lICM 2006-2012
| |
HY-13823
N Axial Joint
:“j; | ‘ Front

M16x1,5-L=194mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 577242B000

97

info@parsrot.com



Rot sy

= Land HYUNDAI
SANTA FE i, DM 2012-2018
|
HY-13833
= Axial Joint
Front
_ 577242W000
SCOUPE (1.51) 1990-1996
| |
HY-13103
Axial Joint
- Front Inner
(1.31t) M14x1,5-L=296mm
5654243001
SONATA | 1993-1998
| |
HY-13503
Axial Joint
-_—————i T Front
M14x1,5-L=322mm
5778526200
SONATA il 1998-2001
| |
HY-13563
Axial Joint
-w Front
M14x1,5-L=166.5mm
5772438010
SONATA v 2001-2004
| |
HY-13563
Axial Joint
-w Front
M14x1,5-L=166.5mm
5772438010
SONATA \'} 2005-2010
| |
HY-13573
N Axial Joint
:“j; | ‘ Front

M16X1.5-L=180mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

577243K000 08

info@parsrot.com



Rot sy

= Land HYUNDAI
STAREX (H1) 1996-2007
|
HY-13243 HY-13253
Axial Joint Axial Joint
T e — Front Front (T =
M14x1.5-L=292mm M16x1.5-L=300.8mm
577294A000 577294A010
TUCSON JM 2004-2010
| |
HY-13333
Axial Joint
_=* Front
L=243.7mm-M16x1,5Rht.
57724-2E000
TUCSON TL 2015 after
| |
KI-13593
& N Axial Joint
Front
57724D3100
VERACRUZ 2008-2015
|
HY-13160
Axial Joint
Front
M16X1,5-L=218mm
577243J000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

99

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 100 info@parsrot.com



—
sy L and

INFINITI

FX35

1st Gen, S50

2002-2008

|

FX45

NS-13803

Axial Joint

Front
M14x1,5-L=240mm

48521CG025

1st Gen, S50

2002-2008

|

&) ¢

NS-13803

Axial Joint

Front
M14x1,5-L=240mm

48521CG025

R50

1997-2004

|

NS-13523

Axial Joint
Front

485210W025

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

101

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 102 info@parsrot.com



A
&Ilana' ISUZU

D-MAX 4X2 2002-2006

1S-13103

Axial Joint

Front
M14X1,5-L=302mm

8980557440

|

D-MAX 4X2 2007-2012

1S-13133

Axial Joint

Front
M14x1,5-L=294mm

8980565500

]

D-MAX 4X4 2002-2006

1S-13123

Axial Joint

o Front
M14x1,5-L=293mm

8973048530

Pickup 1981-1987

IS-13508 1S-13509

Axial Joint Axial Joint

||

Front Inner Front
M14x1,5-L=253mm M14x1,5-L=274mm

5443500953 8942172213

]

Pickup 1985-2002
| .|
1IS-13509 1S-13508
Axial Joint Axial Joint
===‘ Front Front Inner @E‘

M14x1,5-L=274mm M14x1,5-L=253mm
8942172213 5443500953

Pickup 1.6L 1981-1987

IS-13509 1S-13508
Axial Joint Axial Joint
Front Front Inner

M14x1.,5-L=274mm M14x1,5-L=253mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

]

parsrot.com 8942172213 103 5443500953

5
)
he)
2
w
@
[e]
s
(o)
[o]
3



—
sy L and

ISUZU

Pickup

FASTER 2WD

1985-2002

|

TROOPER

IS-13509 1S-13508
Axial Joint Axial Joint

Front Front Inner
M14x1,5-L=274mm M14x1,5-L=253mm

8942172213 5443500953

(UBS)

|

1987-1991

]

IS-13508

Axial Joint

Front Inner
M14x1,5-L=253mm

5443500953

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

104

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 105 info@parsrot.com



—
sy L and

DAILY

IVECO
1999-2006

|

DAILY

FT-13913

Axial Joint

Front
M16x1,5Rht-L=345mm

2992593

2006-2011

]

FT-13913

Axial Joint

Front
M16x1,5Rht-L=345mm

2992593

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

106

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 107 info@parsrot.com



Rot sy

= Land JAGUAR
F-PACE 1st Gen 2015 after
|
JA-13513
N Axial Joint
) ! Front
_ T4A12526
(0109 ¢ 1999-2008
|
JA-13403
Axial Joint
Front
M14x1,5-L208mm
- C2C29620
XF X250 2008-2015
| |
JA-13113
Axial Joint
Front
C2D47149
XJ 1997-2003
|
JA-13303
Axial Joint
Front
M14x1,5Rht-L=281.2mm
h 4E0419821
XK X150 2006-2014
| |
JA-13113
N Axial Joint
\.‘A“: Front
. C2D47149
CF1 2001-2009
|

JA-13920 JA-13923
Axial Joint Axial Joint Pl
Front Inner Front \

M16x1.5-L=342mm M16x1,5-L=336.3mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

2X433200AE 08 FRC3280DA

parsrot.com 1 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 109 info@parsrot.com



Rot sy

== Land JEEP
CHEROKEE KL 2013 after
|

JE-13323

&N Axial Joint

\ Front

_ 68224935AB
MK49 2006-2015
|

JE-13303

Axial Joint

Front

M14X1,5-L=298mm

- 68040224AA
GRAND CHEROKEE 3rd Gen 2011 after
| |

DO-13123

Axial Joint

Front

68105872AB
GRAND CHEROKEE Il WH/WK 2005-2010
| |

JE-13123

P~~~ Axial Joint

\ Front

68066486AA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 110 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 111 info@parsrot.com



Rot sy

mw Land KIA
BESTA 1993-2003
|

MA-13404

Axial Joint

S——— Front

M14x1,5Rht-L=184mm

S08332115
BONGO 1997-2005
| |

KI-13333

Axial Joint

ﬂ Front

M14x1,5-L=184mm

SA3932115
CARENS Il (UN) 2006-2013
| |

KI-13513

— Axial Joint

Front

577242G010
CARNIVAL | 1999-2001
] |

KI-13283

N Axial Joint

:"',’" ‘. Front

A K55232250B
CARNIVAL ]l 2006-2014
| |

KlI-13263

&N Axial Joint

‘ \.‘A“: Front

A 577244D000
CEED | 2006-2012
| |

HY-13373

Axial Joint

ﬂ Front

M14x1,5-L =156.5mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

565402H000 112

info@parsrot.com



A
&Ilana' KIA

CEED | 2012-2018

HY-13383

= Axial Joint

Front

56540A6000

CERATO (LD) 2004-2011

KI-13233

Axial Joint

Front
M14X1,5-L=325mm

577242D000

CERATO 3rd Gen 2014-2018

KI-13273

Axial Joint
Front

56540A7000

Forte 1st Gen 2010-2013

HY-13373

Axial Joint

Front
M14x1,5-L.=156.5mm

565402H000

]

Forte Koup 1st Gen 2010-2013

HY-13373

Axial Joint

Front
M14x1,5-L=156.5mm

565402H000

]

Forte5 1st Gen 2010-2013

HY-13373

Axial Joint

Front
M14x1,5-L.=156.5mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

]

parsrot.com 265402H000 113 info@parsrot.com



Rot sy

= Land KIA
K2500 (SD) 2003-2009
|
Kli-13343
- Axial Joint
Front
M16X1,5-L=182mm
- K60B32270
MAGENTIS GD, MS 2001-2005
| |
HY-13563
Axial Joint
-ﬂ Front
M14x1,5-L=166.5mm
5772438010
MAGENTIS MG 2005-2010
| |
KI-13513
== Axial Joint
Front
577242G010
NIRO 1st Gen 2017 after
|

HY-13623 HY-13623
Axial Joint Axial Joint
Front Front
56540F2000 56540F2000

3rd Gen, TF

2010-2015

|

I“ ‘
|
¥y

PICANTO

KI-13503

Axial Joint

Front
M16X1,5

577243Q000

(BA)

2004-2011

KI-13403

Axial Joint

Front
M12x1,25-L=243mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

5772407100 114

info@parsrot.com



A
&Ilana' KIA

PICANTO (TA) 2011 after

Kil-13433 KI-13437
N\ Axial Joint Axial Joint

Front Front
M14x1.5-L=183mm 577241Y600

577241Y500

PICANTO JA 2017 after

KI-13563

Axial Joint
Front

56540G6000

PREGIO 1997-2004

KI-13203

Axial Joint

Front
M12X1,25-L=274mm

OK7232270

|

PRIDE 1991-2000

K1-13303

Axial Joint

Front
M12x1,25-L=267mm

MDO0013224X

]

RIO DC 2000-2005

KI-13213

Axial Joint

Front
M12x1,25-L=279mm

KDX5332240

RIO JB 2005-2011

KI-13243 KIl-13244

Axial Joint Axial Joint

J
/

Front Right Front Left
M14x1,5-L=185mm M14x1.5-L=185mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

577241G100 15 577241G000

parsrot.com 1 info@parsrot.com



Rot sy

= Land KIA
RIO UB 2011-2017
|
HY-13233
N Axial Joint
| ! Front
M16X1,5-L=218mm
565400U500
RIO YB 2017 after
|
KI-13573
Axial Joint
Front
56540H8000
JB 2005-2011
|

KI-13244  KI-13243
Axial Joint Axial Joint N\

Front Left Front Right
M14x1.5-L=185mm M14x1,5-L=185mm

577241G000 577241G100

SEDONA (UP) 1999-2001

KI-13223 KI-13224

Axial Joint Axial Joint

——
commmec—=—f o= Left  Right

M14x1,5-L=245mm M14x1.5-L=308
0OK55232270 0OK55232250

SEDONA il 2006-2014
|
KI-13263
Axial Joint
Front
577244D000
SEPHIA 1st Gen 1993-1996
| |
KI-13103
Axial Joint
EE__'* Front

M14x1,5-L=283mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com K20132240 116 info@parsrot.com



Rot sy

mw Land KIA
SEPHIA 2nd Gen 1997-2005
|
KI-13123
Axial Joint
t_:—:b Front
M14x1,5-L=293mm
K2A232240
SHUMA 1997-2004
| |
KlI-13123
Axial Joint
:_:—:& Front
M14x1,5-L=293mm
K2A232240
SORENTO JC, BL 2002-2009

KI-13113 KI-13114
Axial Joint Axial Joint

Right Left
M14x1,5L=172mm M14x1,5L=172mm

1
||

57731-3E010 57732-3E010

SORENTO UM, 1l 2015 after
] |
KI-13163
P~ Axial Joint
: Front
57724C5000
SORENTO XM 2009-2014

KI-13150 KI-13153

Axial Joint Axial Joint

Front Left Front Right
M16x1.5-L=187mm M16x1.5-L=187mm

577242P100 577242P000

7 %

| ‘
)
F |

SOUL AM 2009-2014
| |
HY-13364
= Axial Joint
Front

M16X1.5-L=249mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 262403J000 117 info@parsrot.com



Rot sy

= Land KIA
SOUL PS 2014 after
|
KlI-13473
&N Axial Joint
\ Front
- 56540B2000
1st Gen, LD 2004-2009
|
KI-13233
Axial Joint
Front
M14X1,5-L=325mm
- 577242D000
SPORTAGE JE 2004-2010
| |
HY-13333
Axial Joint
(—— T Front
L=243.7mm-M16x1,5Rht.
57724-2E000
SPORTAGE QL 2015 after
| |
KI-13593
N Axial Joint
‘. Front
_ 57724D3100
SL 2010-2015
|
HY-13133
Axial Joint
Front
M16X1,5-L=183mm
5772425100
(AM) 2010 after
|
HY-13364
Axial Joint
Front

M16X1.5-L=249mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 262403J000 118 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 119 info@parsrot.com



—
sy L and

LANCIA

DEDRA 835

1989-1999

FT-13405 FT-13406
Axial Joint Axial Joint

Front Inner Front Inner
ManuelSteering M12x1,5-L=276.8mm PowerSteering M12x1,5L=277mm

SE022162449S 9941625

|

DELTA !

1993-2000

AF-13203 FT-13406

Axial Joint Axial Joint

Front Inner Front Inner
PowerSteering M12x1,5Rht-L=285mm PowerSteering M12x1,5L=277mm

9944452 9941625

FT-13207

Axial Joint

Front
PowerSteering M12x1,5RhtL=285mm

59588244

Y

DELTA Il (844)

2008-2014

FT-13653

Axial Joint

Front
M14x1,5-L=317mm

9949217

|

LYBRA

1999-2005

FT-13743

Axial Joint

Front Inner
M14x1,5-L=309mm

9566950880

i

MUSA 350

2004-2012

FT-13953

Axial Joint

Front
M14x1,5-L=258mm

77362502

?

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 120

info@parsrot.com



Rof
= [and LANCIA
PHEDRA 2002-2010
|
FT-13793
Axial Joint
| e —— Front
M14x1,5-L=308mm
77362280

THEMA 1984-1994

AF-13153

Axial Joint

Front Inner
Only:2.0ltH.D M12x1,5-L=267mm

9947361

1995-2003

FT-13453 FT-13452
Axial Joint Axial Joint

Front Front
Powersteering M12x1.5Rht-L=271.3mm Manual&Powersteering

9945562 9946948

|

10 1985-1996

FT-13708

Axial Joint

"

Front
M12x1,5-L=192mm

SE141162449A

YPSILON 843 2003-2011

FT-13823

Axial Joint

Front
M12x1,5-L=259mm

77362380

1994-2003

‘

FT-13743

Axial Joint

Front Inner
M14x1,5-L=309mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

|

parsrot.com 9966950880 121 info@parsrot.com



Rot sy

mw Land LANCIA
y4 2004-2010
|

FT-13463

Axial Joint

e Front Inner

M14x1,5Rht-L=309.3mm

9947713

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 122 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 123 info@parsrot.com



Rot sy

= Land LAND ROVER
DISCOVERY Il TAA 2004-2009
. |

LA-13132 LA-13133
Axial Joint Axial Joint

Right  Left
M16X1,5-L=369mm  M16X1,5-L=369mm

QFK500020 QFK500010

IVLA 2009-2016

LA-13133 LA-13132

Axial Joint Axial Joint

Left Right
M16X1,5-L=369mm M16X1,5-L=369mm

QFK500010 QFK500020

RANGE ROVER L405 2012 after

LA-13173

Axial Joint

Front
M14x1.5-L=330mm

LR033529

RANGE ROVER LM, L322 2002-2012

LA-13153

Axial Joint

Front
M16X1,5-L=230mm

TIQ000040

L538 2011-2018

LA-13233

Axial Joint

Front
M18X1,5-L=298mm

15LR026271

RANGE ROVER SPORT I, L320 2005-2013

LA-13140

Axial Joint

|
e —— Front
M16x1,5-L=365mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

QKF500030

parsrot.com 124 info@parsrot.com



ﬂo{”
mw Land LAND ROVER

RANGE ROVER SPORT Il, L494 2013 after

LA-13173

P— Axial Joint

Front
M14x1.5-L=330mm

LR033529

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 125 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 126 info@parsrot.com



Rot sy

== Land LEXUS
ES300 XV20 1996-2001
|
TY-13133
Axial Joint
= e Front
4550339135
ES300 XV30 2002-2006
| |
TY-13183
Axial Joint
Front
4550339225
ES350 XV40 2006-2012
|
TY-13213
Axial Joint
Front
4550339275
GS 3rd Gen (S190) 2005-2011
| |
LX-13253
— Axial Joint
Front
4550330090
GX470 J120 2003-2010
| |
TY-13153
Axial Joint
q Front
4550339235
LX470 J100 1998-2007
|

TY-13143 TY-13163

Axial Joint Axial Joint A~

|
td Front Inner Front

* Name of vehicles, models, logos, O& RERREINA Bthers ISR FAEH Bre used for reference purposes only.

parsrot.com 127 info@parsrot.com



—
sy L and

RX300

|

MHU3, GSU3, MCU3

LEXUS

2003-2008

TY-13184

Axial Joint

Front
M15x1.5-L.=242.6mm

4550349125

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

128

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 129 info@parsrot.com



Rot sy

== Land LINCOLN
MKZ 1st Gen 2007-2012
|
MA-13703
Axial Joint
ﬂ Front
GJ6E32240
NAVIGATOR UN173, U228 2003-2006

FO-13573 LN-13203

7N
|
I‘I ‘
|
F |
r 4

Axial Joint Axial Joint
Front Front
2L123280GA M16x1.5-L=285.4mm

LN-13303

L~ Axial Joint

Front
M14x1.5-L=279.8mm

TOWN CAR 3rd Gen 1998-2011
| |
FO-131003
= Axial Joint
Front
8W7Z3280A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 130 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 131 info@parsrot.com



Rot sy

= Land MAZDA
121 DA 1987-1990
|

Ki1-13303

Axial Joint

_s’ Front

M12x1,25-L=267mm

MDO0013224X

DB 1990-1996

MA-13110

Axial Joint

Front
M12X1,25-L=264mm

D0613224XA

mn 1996-2003

FO-13114

Axial Joint

Front
M14x2-L=313mm

B196FB3L519BA

DE 2007-2015

MA-13253

Axial Joint

Front
M14X1,5-L=216mm

D65132240

DY 2003-2007

FO-13247

Axial Joint

Front
M14x1,5-L=278mm

4472940

BK 2003-2009

MA-13333

Axial Joint

Front
M17x1,5Rht-L=292mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com BP4L32240 132 info@parsrot.com



—
sy L and

MAZDA

BL

2009-2014

MA-13333

Axial Joint

Front
M17x1,5Rht-L=292mm

BP4L.32240

BM

2014-2019

MA-13393

Axial Joint
Front

GHT232240A

BF

1984-1989

MA-13103

Axial Joint

Front
M12x1,25Rht-L=313mm

BF6732240

BG, 6th Gen

1989-1994

323

MA-13113 MA-13114
Axial Joint Axial Joint

Front Front
M12x1 SAEMISIRRInG,  RRWSTSIRRAIY —322 5mm

B4563224X B4563225X

BH, BA

|

1994-1998

|

323

MA-13123

Axial Joint

Front
Only:1,8Engine M12x1,25-L=336mm

E0163225X

LANTIS

1999-2004

|

MA-13603 MA-13604
Axial Joint Axial Joint

Right Left
M14x1,5-L=308mm M14x1,5-L=308mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

|

parsrot.com

B25D32240 133 B25D32240

info@parsrot.com



A
&Ilana' MAZDA

323 LANTIS 1999-2004

MA-13127

Axial Joint

Front
(Only:Lantis) M12x1,25-L=320mm

B25D32240X

CR19, 2nd Gen 2005-2010

MA-13333

Axial Joint

Front
M17x1,5Rht-L=292mm

BP4L32240

GG 2002-2007

MA-13703

Axial Joint
Front

GJ6E32240

GH 2007-2012

MA-13723

Axial Joint

Front
M14X1,5-L=165mm

GS1D32240

\

6 GJ 2013-2016
| —
MA-13393
& N Axial Joint
( l Front
! GHT232240A
y{ 1987-1992
| —
MA-13203
Axial Joint
e Front Inner

M14x1,5-L=286mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com GJ2232250 134 info@parsrot.com



Rot sy

= Land MAZDA
626 1992-1997
|
MA-13223
Axial Joint
——— Front
M14x1,5-L=300.8mm
GA2A32250
626 1997-2002
| |
MA-13243
Axial Joint
-_——————== g Front
M14x1,5Rht-L=307,5mm
GE4T32240
CX-3 1st Gen 2015 after
| |
MA-13853
N Axial Joint
g Front
D10E32240
CX-5 KE 2011-2017
|
MA-13803
Axial Joint
Front
M14X1,5-L=304mm
h KD3132240
CX-7 ER 2007 after
| |
MA-13513
N Axial Joint
\.‘A“: Front
_ EG2132240
2007-2016
|
MA-13813
Axial Joint
Front

* Name of vehicles, models, logos, OER 18224 thers in this document are used for reference purposes only.

parsrot.com 135 info@parsrot.com



—
sy L and

MAZDA

DEMIO

1996-2003

E2000

MA-13173

Axial Joint
Front
D10232240

(SR1)

1984-1988

{
|

E2200

MA-13404

Axial Joint

Front
M14x1,5Rht-L=184mm

$08332115

(SR2)

1998-2004

FAMILIA

MA-13414

Axial Joint

Front
M14x1,5-L=289mm

S47P32240A

1999-2004

MA-13127 MA-13604
Axial Joint Axial Joint

Front Left
(Only:Lantis) M12x1,25-L=320mm M14x1,5-L=308mm

B25D32240X B25D32240

n

1

LANTIS

MA-13603

Axial Joint

Right
M14x1,5-L=308mm

B25D32240

FAMILIA

1999-2004

|

MA-13603 MA-13604

Axial Joint Axial Joint

Right  Left
M14x1,5-L.=308mm  M14x1,5-L=308mm

B25D32240 B25D32240

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

136

5
)
he)
2
w
@
[e]
s
(o)
[o]
3



—
sy L and

MAZDA

LANTIS FAMILIA

1999-2004

MA-13127

Axial Joint

Front
(Only:Lantis) M12x1,25-L=320mm

B25D32240X

|

MX-5 I(NA)

1989-1998

MA-13303

Axial Joint

- _4 Front

M12x1,25-L=301mm
NA0232240

Il (NB)

1998-2005

MA-13363

Axial Joint

Front
M12X1,25-L=303mm

NC1032250A

I (NC)

2005-2015

MA-13373

Axial Joint

Front
(1.8i-2.0i) M14X1,5-L=234mm

NE5132240

(CE), 2nd Gen

1992-1998

MA-13223

Axial Joint

Front
M14x1,5-L=300.8mm

GA2A32250

PREMACY (CP), 1st Gen

1999-2005

MA-13604

|
Axial Joint
# Left
M14x1,5-L=308mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

MA-13603
Axial Joint

Right
M14x1,5-L=308mm

|

parsrot.com B25D32240

1

37 B25D32240

info@parsrot.com



Rot sy

== Land MAZDA
PREMACY (CP), 1st Gen 1999-2005
|
MA-13617
o Axial Joint
Front
(lantis) M14x1,5
B25D32250
PROTEGE BG, 6th Gen 1989-1994
| |
MA-13114 MA-13113
Axial Joint Axial Joint
o e Front Front ¢ S
M12x1,25Rr I S35 MaBY$ A28 309mm
B4563225X B4563224X
RX-8 2003-2011
| |
MA-13163
= Axial Joint
Front
F15132240
TRIBUTE 2nd Gen 2007-2012
| |
FO-13143
&N Axial Joint
Front
! AL8Z3280B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

138

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 139 info@parsrot.com



ﬂo[n
= Land MERCEDES

A-CLASS W168 1997-2004

MB-13503

Axial Joint

Front
M12x1,5-L=196,5mm

1683301335

|

A-CLASS W169 2004-2012

MB-13523

Axial Joint

Front
Ch:->J126738 M14x1,5-L.=201,5mm

1693300703

y ‘

A-CLASS W176 2013-2018

MB-13573

P~ Axial Joint

Front
M14X1,5-L=222mm

A2463380000

B-CLASS W245 2005-2011

MB-13523

Axial Joint

Front
Ch:->J126738 M14x1,5-L=201,5mm

1693300703

=

B-CLASS W246 2011-2016

MB-13573

Axial Joint

Front
M14X1,5-L=222mm

A2463380000

C-CLASS W203 2000-2007

MB-13583 MB-13853

Axial Joint Axial Joint

|

Front Front Inner

M14x1,5-L=243mm
* Name of vehicles, models, logos, 0RARR0AYBthers in this dociment are used for reference purposes only.

140 2303380015

parsrot.com info@parsrot.com



Rot sy

== Land MERCEDES
C-CLASS W204 2007-2013
|
MB-13763 MB-13253
Axial Joint Axial Joint
——=-’ Front Inner Front
M14x1,5-L=275.5mm PowerSteering
2043380015 2073300500
C-CLASS W205 4x2 2013 after
|
MB-13793 MB-13783
Axial Joint Axial Joint —
Front Front
M14x1.5-L=245mm M14x1.5-L=243mm
A2054600805 A2054600405
415 2012 after
|
RN-13753
Axial Joint
Front
M14x1,5-L=210mm
A4154600000

CLA-CLASS

2012-2019

MB-13573

P— Axial Joint

Front
M14X1,5-L=222mm

A2463380000

CL-CLASS

C215

1999-2006

MB-13853

Axial Joint

Front Inner
M14x1,5-L=243mm

2303380015

]

CLK-CLASS

A209,C209

2002-2009

MB-13853

Axial Joint

Front Inner
M14x1,5-L=243mm

]

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 2303380015

141

info@parsrot.com



ﬂo[n
= Land MERCEDES

E-CLASS W210 1995-2003

MB-13133 MB-13233

Axial Joint Axial Joint

—ﬂ Front Front
M14x1,5-L.=243mm 2103381115
2103380415
E-CLASS W211 2003-2009
| |
MB-13953 MB-13853
Axial Joint Axial Joint
Front Inner Front Inner -_#}

(Onyl:4matic4x4) M14x1,5 M14x1,5-L=243mm
A2113302903 2303380015

E-CLASS W212 2009-2016

——
MB-13253 MB-13243

Axial Joint Axial Joint

Front Front Inner
PowerSteering M14X1,5-L=237mm

2073300500 2123302103

MB-13273
Axial Joint
Front
(4-matic Elec. PS. with ASD)
A2123302803
E-CLASS W213 4x2 2016 after

.|
MB-13793 MB-13783
Axial Joint Axial Joint -
Front Front
M14x1.5-L=245mm M14x1.5-L=243mm

A2054600805 A2054600405

GLA-CLASS X156 2013 after

MB-13573

Axial Joint

Front
M14X1,5-L.=222mm

A2463380000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 142 info@parsrot.com



—
sy L and

MERCEDES

GLC-CLASS

X253,C253

2016 after

MB-13783

— Axial Joint

Front
M14x1.5-L=243mm

A2054600405

X164

2006-2012

MB-13823

Axial Joint

Front
M14x1,5-L=204mm

1644600005

GL-CLASS

X166

2012 after

MB-13633

Axial Joint

Front
M16X1,5-L=270mm

A1663380315

GLK-CLASS

X204

2008-2016

MB-13903

Axial Joint

Front Inner
M14x1.5-L.=243,5mm

2043380515

MB-13273
Axial Joint

Front
(4-matic Elec. PS. with ASD)

A2123302803

W447

2016 after

MB-13613

Axial Joint
Front

A4474600055

ML-CLASS

W163

1998-2005

MB-13803

Axial Joint

|
. w Front

M16x1,5-L=160mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 1633380215

143

info@parsrot.com



Rot sy

== Land MERCEDES
ML-CLASS W164 2005-2011
|
MB-13823
Pt Axial Joint
Front
M14x1,5-L=204mm
1644600005
ML-CLASS W166 2011-2019
|
MB-13633
Axial Joint
Front
M16X1,5-L=270mm
A1663380315
S-CLASS W220 1999-2005
| |
MB-13853
Axial Joint
_ﬁ:; Front Inner
M14x1,5-L=243mm
2303380015
S-CLASS W221 2005-2013
|

MB-13893 MB-13903
Axial Joint Axial Joint

Front Front Inner
M14x1,5-L=262mm M14x1.5-L=243,5mm

2213301603 2043380515

|

S-CLASS W222,V222,X222 2014 after
|

MB-13273

Axial Joint

Front

(4-matic Elec. PS. with ASD)

A2123302803
SL-CLASS R230 2001-2012
|

MB-13853

Axial Joint

|
-_ﬁb Front Inner

M14x1,5-L=243mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 2303380015 144 info@parsrot.com



Rot sy

== Land MERCEDES
SLK-CLASS R171 2004-2011
|

MB-13193

Axial Joint

Front

M14x1,5Rht

- 1713380015
SLK-CLASS R172 2011 after
.|

MB-13383

Axial Joint

Front

2043380615

W901,W902,W903 1995-2006

MB-13703

Axial Joint

Front
M16x1,5Rht-L=388mm

9014600455

SPRINTER W906 2006-2019

MB-13733

Axial Joint
Front
9064600055

|

VANEO W414 2002-2005

MB-13673

Axial Joint

Front
M14X1,5Rht-L=196mm

4144600205

]

VIANO W639 2003-2014

MB-13683

Axial Joint

Front
M16x1,5Rht-L=290mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

|

parsrot.com 6394600255 145 info@parsrot.com



—
sy L and

MERCEDES

VITO

W447

2014 after

VITO

MB-13613

Axial Joint
Front
A4474600055

W638

1997-2003

|

VITO

MB-13603

Axial Joint

Front
M16x1,5-L=342.5mm

6384600055

W639

2003-2014

|

MB-13683

Axial Joint

Front
M16x1,5Rht-L=290mm

6394600255

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

146

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 147 info@parsrot.com



Rot sy

== Land MERCURY
COUGAR 1998-2001
|
FO-13924
Axial Joint
< = T Front
15"-16"Wheels M16x1,5-L=355mm
F5RC3280EA
MARINER 1st Gen 2005-2011
|
FO-13143
Axial Joint
Front
AL8Z3280B
MILAN 2006-2011
| |
MA-13703
Axial Joint
ey (= Front
GJB6E32240

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 148 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 149 info@parsrot.com



A
&Ilana' MINI

COOPER F55,F56 2014 after

MN-13163

— Axial Joint

Front

32106854736

COOPER R50,R53 2001-2006

MN-13103

Axial Joint

]
.——===° Front

M14x1,5Rht-L=184mm
32116754564

COOPER R52 2004-2007

MN-13103

Axial Joint

|
_ﬂ* Front

M14x1,5Rht-L=184mm
32116754564

COOPER R55,R56 2006-2010

MN-13133

Axial Joint

Front
M14x1,5-L.=195,5mm

32106778548

R60 2010-2014

MN-13133

Axial Joint

Front
M14x1,5-L=195,5mm

32106778548

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 150 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 151 info@parsrot.com



Rot sy

== Land MITSUBISHI
ASX (GAW) 2010 after
|
MI-13473
Axial Joint
— = Front
M14X1,5-L=340mm
4422A076
CARISMA 1995-2000
| |
MI-13703
Axial Joint
——————i Front
M12x1,25-L=310mm
MR244901
CARISMA 2000-2006
| |
MI-13713
Axial Joint
& Front
M12x1,25-L=316,5mm
MR403027
COLT il 1988-1992

| |
MI-13423 MI-13413
N\ Axial Joint Axial Joint
: Front  Front - e x
\ / MR297969 12x1,25Rht-L=293mm '
MB553249
COLT v 1992-1996
| |
Mi-13423
~ Axial Joint
: Front
MR297969
COLT Vi 2002-2012
|
MI-13600
Axial Joint
Front

M12X1,25-L=310mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 152 info@parsrot.com



Rot sy

= Land MITSUBISHI
GALANT 1983-1988
|
Mi-13204
Axial Joint
- T Front
ManuelSteering M14x1,5Rht-L=293mm
MR455425
GALANT 1988-1992
| |
MiI-13603
Axial Joint
—==# Front
M14X1,5Rht-L=229mm
MB949343
GRANDIS 1st Gen 2004-2011
| |
MI-13163
Axial Joint
Front
4422A077
(KA4T,KB4T) 2005-2015
|
MI-13133 MI-13563
Axial Joint Axial Joint N
Front Front ‘1
L=311mm-M16X1,5 Forvehiculeswithbadrodequipment ‘
4410A172 4410A173
1982-1986
|
MI-13203 MI-13204
Axial Joint Axial Joint
Front Front - T
PowerSteering M14x1,5-L=288mm ManuelSteering M14x1,5Rht-L=293mm
MB532971 MR455425
LANCER (CS,A) 2003-2008
| |
MI-13463
Axial Joint
L m———— Front

M12X1,25-L=310mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com MR491358

info@parsrot.com



—
sy L and

MITSUBISHI

LANCER

CY2Aa(111CZ4A

2008-2017

|

LANCER

MI-13473

Axial Joint

Front
M14X1,5-L=340mm

4422A076

1982-1987

|
- T

LANCER

MI-13403

Axial Joint

Front
M12x1,25-L=294mm

MB532046

1992-1996

LANCER

MI-13423

Axial Joint
Front

MR297969

Vi

1996-2001

"
.||
|

I |

MIRAGE

MI-13423

Axial Joint
Front
MR297969

3rd Gen

1988-1992

i

MIRAGE

MI-13413

Axial Joint

Front
12x1,25Rht-L=293mm

MB553249

6th Gen

2012 after

%\

]I ‘
| |
¥y

MI-13453

Axial Joint
Front

* Name of vehicles, models, logos, OE g2 A8 thers in this document are used for reference purposes only.

parsrot.com

154

info@parsrot.com



Rot m=y
= Land MITSUBISHI

MONTERO n 2000-2007

MI-13523

Axial Joint

Front
M16x1.5-L=205mm

MR510267

ﬂ

MONTERO \' 2007 after

MI-13533
Axial Joint

Front
M16x1.5/L=189MM

4422A036

OUTLANDER I 2001-2006

MI-13483

Axial Joint

Front
M14x1.5-L=322mm

4422A057

OUTLANDER | 2006-2012

MI-13483

Axial Joint

Front
M14x1.5-L=322mm

4422A057

1] 2012 after

MI-13483
Axial Joint

Front
M14x1.5-L=322mm

4422A057

Outlander Sport (GAW) 2010 after

MI-13473

Axial Joint

1
_@ Front
M14X1.,5-L=340mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 44227076 155 info@parsrot.com



—
sy L and

MITSUBISHI

PAJERO

2000-2007

ﬂ

PAJERO

MI-13523

Axial Joint

Front
M16x1.5-L=205mm

MR510267

2007 after

PAJERO

MI-13533

Axial Joint

Front
M16x1.5/L=189MM

4422A036

PININ

1999-2007

|

SPACE STAR

MI-13553

Axial Joint

Front
M14x1.5-L=346.7mm

MR448255

1998-2004

MI-13713

Axial Joint

Front
M12x1,25-L=316,5mm

MR403027

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

156

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 157 info@parsrot.com



ﬂo{”
= Land MOSKOVICH

ODA after

MO-13203

P— Axial Joint

Front
M14x1.5-L=321.8

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 158 info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 159 info@parsrot.com



Rot sy

= [and NISSAN
350Z Z33 2003-2009
|
NS-13353
Axial Joint
Front
48521AL500
ALMERA (N15) 1995-2000
| |
NS-13222
Axial Joint
T Front
Only: 14 AP SIERT
4852160Y05
ALMERA (N16) 2000-2006
| |
NS-13626 NS-13630
Axial Joint Axial Joint TN
——— 1, - Front Front | ;

M12X1,5-L=276mm M14X1,5-L=305mm
485214M587 485214U110

ALTIMA 4th Gen (L32A, D32) 2007-2012

NS-13643

= Axial Joint
' Front
D8521JA00A

ALTIMA 5th Gen, L33 2013-2018

NS-13693
Axial Joint
Front

D85213TAOA

BLUEBIRD U11U12-STANZAT11 1971-1990

NS-13403

Axial Joint

|
Lﬂ Front
M12x1,5Rht-L.=262.8mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4852100100 160 info@parsrot.com



NISSAN

I (N12)

1984-1987

NS-13403

Axial Joint

L.# Front

M12x1,5Rht-L=262.8mm
48521D0100

FRONTIER

(D40)

2005-2014

NS-13583

Axial Joint

—
e Front

M16X1,5-L=202.5mm
48521EA000

INTERSTAR

(X70)

2002-2010

RN-13473

Axial Joint

——
= e Front
M16x1,5-L=176mm

7701470362

KUBISTAR

(X76)

2003-2007

RN-13733

Axial Joint

= _—-—Q:E Front
Mn.Steering M14x1,5Rht-L=304mm

7701472113

RN-13734

Axial Joint

Front

RS 3RL302.5mm

7701473655

n

RN-13734K

Axial Joint

Front Inner
M14x1,5Rht-L=303mm

7701473655

LAUREL

C33

1988-1993

NS-13503

Axial Joint

[
= Front

M14x1.5-L=265.5mm
4852172L00

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot m=y
= Land NISSAN

MAXIMA A32, MAXIMA QX 1994-2000

MA-13604

Axial Joint

Left
M14x1,5-L=308mm

B25D32240

|

MAXIMA A33, MAXIMA QX 1999-2003

MA-13603

Axial Joint

Right
M14x1,5-L=308mm

B25D32240

|

MICRA K10 1982-1992

NS-13403

Axial Joint

Front
M12x1,5Rht-L=262.8mm

48521D0100

K11 1992-2003

NS-13413

Axial Joint

Front
M12x1,25-L=272.3mm

4852117B00

K12 2003-2010

NS-13423 RN-13423

Axial Joint Axial Joint

Front Front oS e e——
M14x1,5Rht-L=200mm M14x1,5Rht-L=305.5mm

48001AX602 7701475841

K13 2010 after

NS-13443

Axial Joint

Front
M12X1,25-L=227mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com D85211HACA 162 info@parsrot.com



Rot m=y
= Land NISSAN

MURANO 250 2003-2007

NS-13453

Axial Joint

Front
M14X13,5-L=264mm

48521CB027

MURANO Z51 2007-2014

NS-13463

Axial Joint

Front
M14X1,5-L=240mm

D8E211AAQA

NAVARA D40 2005-2014

NS-13583

Axial Joint

Front
M16X1,5-L=202.5mm

48521EA000

]

NOTE E11 2006-2013

NS-13800

Axial Joint

L Y
|
.||
I |

Front
M12x1,25Rht-L=200mm

4800190100

100, B13 1990-1994

NS-13222

Axial Joint

¥
\

Front
Only1453 PR S

4852160Y05

PATHFINDER R50 1997-2004

NS-13523

Axial Joint

Front

|

* Name of vehicles, models, logos, A#B8RAHNVEASBthers in this document are used for reference purposes only.

parsrot.com 163 info@parsrot.com



—
sy L and

NISSAN

PATHFINDER R51

2005-2014

NS-13583

Axial Joint

Front
M16X1,5-L.=202.5mm

48521EA000

l

2009-2014

SZ-13333

Axial Joint

Front
M12x1.25-L=272

48830M68K00

X83

2002-2014

RN-13654

Axial Joint

Front
M14x1,5-L=263mm

7701473333

PRIMERA (P11)

1996-2001

NS-13203

Axial Joint

]
B ] Front

M12x1.25-L=274mm
4852172

PRIMERA (P12)

2002-2008

NS-13343

Axial Joint

Front
M12X1,25-L=280mm

49001BA210SK

PRIMERA (P10-W10-W11)

1990-1996

NS-13203

Axial Joint

[
™~ Front

M12x1.25-L=274mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4852172

164

info@parsrot.com



Rot m=y
= Land NISSAN

PULSAR N14 1990-1995

NS-13222

Axial Joint
Front
onty: 141 SRS S

4852160Y05

|

QASHQAI (J10,JJ10) 2007-2014

NS-13903

Axial Joint

Front
M14x1,5-L=232mm

D8521JG00A

|

QASHQAI n(J11) 2014 after

RN-13183

Axial Joint
Front

485212518R

QUEST 3th Gen, V42 2004-2009

NS-13123

Axial Joint
Front
48521CK000

QUEST 4th Gen, RE52 2010-2017

NS-13133

Axial Joint
Front

D85211JAOA

ROGUE 1st Gen 2008-2014

NS-13903

Axial Joint

Front
M14x1,5-L=232mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

|

parsrot.com D8521JG00A 165 info@parsrot.com



Rot sy

= Land NISSAN
SENTRA B12-N13 1985-1990
|
NS-13403
Axial Joint
L.ﬁ Front
M12x1,5Rht-L=262.8mm
48521D0100
SENTRA B13/ N14 1990-1995
| |
NS-13222
Axial Joint
T Front
Only- 1k PoRs i
4852160Y05
SENTRA B16 2007-2012
| |
NS-13263
Axial Joint
Front
48521ETO0A
SERENA Mkl C23 1992-2001
| |
NS-13723
Axial Joint
. —— Front
M12x1,25-L=319mm
STANZA T11 1971-1990
| |
NS-13403
Axial Joint
L_—* Front
M12x1,5Rht-L=262.8mm
48521D0100
SUNNY B12-N13 1985-1990
| |
NS-13403
Axial Joint
Lﬂ Front

M12x1,5Rht-1 =262.8mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4852100100 166 info@parsrot.com



Rot sy

== Land NISSAN
SUNNY B13-N14 1990-1995
|

NS-13222

Axial Joint

B —— ] Front

O 45 S5

4852160Y05

TEANA J32 2009-2013

NS-13463 NS-13643

Axial Joint Axial Joint

A"
| ‘

)

F |

Front Front
M14X1,5-L=240mm D8521JA00A

D8E211AAQA

TIIDA (C11) 2004-2012

NS-13843

P~ Axial Joint

Front
M12X1,25

485213U025

VANETTE (HC 23 ) CARGO 1994-1999

NS-13723

Axial Joint

Front
M12x1,25-L=319mm

VERSA 2004-2012

NS-13843

Axial Joint

4 "

l‘ ‘
)
¥

Front
M12X1,25

485213U025

X-TRAIL 1st Gen ( T30) 2001-2007
| |
NS-13623
Axial Joint
ﬂ Front

M14X1.5-L=286mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 485218H327 167 info@parsrot.com



—
sy L and

X-TRAIL

|

X-TRAIL

2nd Gen (T31)

NISSAN
2007-2013

NS-13903

Axial Joint

Front
M14x1,5-L=232mm

D8521JG00A

3rd Gen (T32)

2013 after

NS-13183

Axial Joint
Front

D85214BA0OA

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

168

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 169 info@parsrot.com



Rot sy

== Land OPEL
AGILA (A) 2000-2007
|
OP-13173
Axial Joint
_.- Front
M12x1,25-L=239.8mm
4883086G00
AGILA (B) 2007-2014
| |
SZ-13433
Axial Joint
——lf = Front
M12x1,25-L=305mm
4883063J00
ASTRA (G) 1998-2004
|
OP-13452
Axial Joint
Front
TrwSteering M14x1,5-L=280mm
9118128
(H) 2004-2009
|

OP-13463 OP-13468
Axial Joint Axial Joint

Front Front

OnIy:ZF-SteeringeSe?oM%)%ﬁ).g_ff_, l 89]6Cr¥1vmh TRWSteering

93181230 93191526

OP-13452

Axial Joint

Front
TrwSteering M14x1,5-L=280mm

9118128

(J) 2009-2015

OP-13484

Axial Joint

Front
Type:POCNJO M16X1,5-L=288mm

1609029

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 170 info@parsrot.com



Rot sy

= [and OPEL
ASTRA (K) 2015 after
|

OP-13523

Axial Joint

Front

13464344
ASTRA GTC (J) 2011 after
| |

OP-13533

Axial Joint

Front

Forvehicleswithpowersteering

1609187

CHEVETTE 1975-1985
| |
OP-13506
Axial Joint
Front
M14x1,5-L=222mm
8984060
COMBO (B) 1993-2000
| |
OP-13143 OP-13147
Axial Joint Axial Joint
" ] Front Front —t——l
PowerSteering M12x1,25-L=278mm ManuelSteering M12x1,5-L=322mm
322158 322155
COMBO (C) 2000-2006
| |
OP-13110 OP-13153
N Axial Joint Axial Joint
f : Front Front ——
! VS G L S VP et
1603843 26087867
CORSA (A) 1982-1993
| |
OP-13113
Axial Joint
*—’ Front

M12x1,5Rht-L=296mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 322149 171 info@parsrot.com



—
sy L and

OPEL

CORSA (B)

1993-2000

OP-13147

Axial Joint

Front
ManuelSteering M12x1,5-L=322mm

322155

|

OP-13143
Axial Joint

Front
PowerSteering M12x1,25-L=278mm

322158

CORSA (B)73,78,79

|

1999-2000

OP-13113

Axial Joint

Front
M12x1,5Rht-L=296mm

322149

]

CORSA (C)

2000-2006

OP-13151

P~ Axial Joint

Front
CH:43000001/44000001-> C=M14X1.5

93192420

OP-13153
Axial Joint

Front
CH->3390990134999999

26087867

n

OP-13110

Axial Joint
Fron.t
RPSPEE S Gt

1603843

CORSA (D)

2006-2014

OP-13183

Axial Joint

|

Front
M14x1,5-L=289mm

93189022

CORSA (E)

2014 after

FT-13483

Axial Joint

( e Front
M14x1,5Rht-L=295mm

9944452

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

172

info@parsrot.com



—
sy L and

OPEL

CORSA

(Utility)

2003-2010

CH-13703

— Axial Joint

Front
M14X1,5-L=275mm

93388624

C16

2015 after

OP-13933

Axial Joint
Front

95371542

INSIGNIA

1st Gen

2008-2017

CH-13336

Axial Joint

Front
2.48&2.5L.With19wheels.

1609183

CH-13333
Axial Joint
Front

1609181

OP-13513

Axial Joint

Front Inner
M16x1,5-L=309mm

6606030

INSIGNIA

2016 after

OP-13563

Axial Joint
Front
23449526

C16

2015 after

OP-13933

Axial Joint
Front

95371542

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

173

info@parsrot.com



Rot sy

== Land OPEL
MERIVA (A) 2003-2010
|
OP-13160 OP-13163
N Axial Joint Axial Joint
Front Front Inner Co——

ManuelSteering M14X1,5-L=312mm M14x1,5-L=316mm
1603428 26110429

MERIVA (B) 2010-2017

OP-13233 OP-13234

Axial Joint Axial Joint

A"

| ‘
)
F

Front Front
(PRExcept) M14X1,5-L=233mm (PRincluding) M14X1,5-L=233mm

93196777 93196778

MOVANO (A) 1998-2010
| |
RN-13473
Axial Joint

= e Front

M16x1,5-L=176mm
7701470362

MOVANO (B) 2010 after

RN-13493

Axial Joint

Front
M18X1,5-L=253mm

485212373R

SIGNUM 2003-2008

OP-13473

Axial Joint

Front Inner
M14x1,5-L=284mm

93172256

|
\

VECTRA (B) 1996-2002

OP-13442 OP-13443

Axial Joint Axial Joint

|

Front Front
* Nagg] cI) v%fﬁ(?etse ?n%ggs,l}ggcﬁs?%l‘isr:&r:l%ﬂs“ ammthers |nf\oﬂ%§qa§ewl=aa¥¥4 teenprgeference purposes only.

|

parsrot.com 324186 174 1603199 info@parsrot.com



OPEL

VECTRA

(C)

2002-2008

OP-13473

Axial Joint

Front Inner
M14x1,5-L=284mm

93172256

l

VIVARO

OP-13475
Axial Joint

Front
Only:16,17ingJant M14x1,5-L=285mm

1603416

|

2014-2018

RN-13654

Axial Joint

Front
M14x1,5-L=263mm

7701473333

_—
L - ere——m—m—

—

ZAFIRA

(A)

1998-2004

OP-13452

Axial Joint

Front
TrwSteering M14x1,5-L=280mm

9118128

]

ZAFIRA

B ( A05)

2005-2011

OP-13463

Axial Joint
Front
Only:2F-Steering3pqii3ae 4% 135m

93181230

1
M

ZAFIRA

OP-13464

Axial Joint

Front
PRIl o1 oL

93186330

C (P12)

|

2011 after

OP-13493

Axial Joint

Front
M16X1,5-L=310mm

1609184

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

175

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 176 info@parsrot.com



Rot sy

= Land PEUGEOT
104 1972-1988
|
PG-13501
Axial Joint
—=—=n%’ Front Inner
95560858
106 1991-2004
| |
CIT-13303
Axial Joint
— Front
M14x1,5Rht/Lht-L=380mm
95069129
107 2005-2014
| |
PG-13173
= Axial Joint
Front
M12X1,25-L=224mm
455000H010
205 1983-1998
| |
PG-13202 CIT-13203
Axial Joint Axial Joint
——il Front Inner Front ————
M14x1,5-L=314mm M14x1,5-L=312mm
96136394 381295
206 1998-2008
| |
PG-13233
Axial Joint
) Front
M14X1,5-L=300mm
3812C5
206 + 2009-2012
| |
PG-13233
Axial Joint
p— ' ] Front

M14X1.5-L=300mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

3812C5

177

info@parsrot.com



Rot sy

== Land PEUGEOT
207 2006-2012
|
PG-13273
Axial Joint
[PRRSI— Front
M16x1,5-L=213mm
381200000000
GTI 2012 after
|
PG-13513
Axial Joint
Front
M14x1.5-L=225mm
- 1608025380
208 | 2017 after
| |
CIT-13343
Axial Joint
Front
1610817680
3008 2009-2016
| |
PG-13663
Axial Joint
_=ﬂ Front
M14x1,5-L=272mm
3812F2
3008 Il 2016 after
| |
CIT-13343
N Axial Joint
\"A“: Front
. 1610817680
1977-1984
|
PG-13305
Axial Joint
Front

M14x1,5-L=320mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 381254 178 info@parsrot.com



ﬂa]”
mw Land PEUGEOT
305 1984-1990
.|
PG-13306
Axial Joint

== =i Front

M14x1,5-L=175mm
381296

306 1993-2001

PG-13607

Axial Joint

]
-_——- Front
14x1,5Rht-L=353mm

381292

307 2000-2008

PG-13654 PG-13653

Axial Joint Axial Joint

|
ﬁ Front Front

Ch.No:10311-> M14x1,5-L=340mm Ch.No:->10310 M14x1,5-L=322mm
381200000 3812

|

308 2007-2013

PG-13663

Axial Joint

Front
M14x1,5-L=272mm

3812F2

]

308 2nd Gen 2013 after

PG-13673

Axial Joint

Front
M14x1,5

1611242380

)
/

309 1985-1993

|
~E-

PG-13705

Axial Joint

Front
M14x1,5-L=320mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 381252 179 info@parsrot.com



Rot sy

= Land PEUGEOT
4007 2007-2012
|
Mi-13483
= Axial Joint
Front
M14x1.5-L=322mm
- 4422A057
405 1985-1997
| |
PG-13407
Axial Joint
—==E=a' Front
M14x1,5-L=184mm
381277
406 1995-2004
| |
PG-13443 PG-13453
Axial Joint Axial Joint
==_.—_;=°. Front Front m’
M16x1,5-L=311mm M16x1,5-L=301mm
3812A9 3812C4
407 2004-2011
| |
PG-13463
Axial Joint
w Front
M14x1,5-L=103mm
3817000
5008 2009-2016
| |
PG-13663
Axial Joint
_m. Front
M14x1,5-L=272mm
3812F2
504 1968-1993
| |
PG-13501 PG-13502
Axial Joint Axial Joint
—=—=-=’ Front Inner Front —=—=’

* Name of vehicles, models, logos, OE nQB$a8thers in this dociment are used for reference purposes only.

M14x1,5Rht-L=247mm

parsrot.com

180 381217

info@parsrot.com



—
sy L and

PEUGEOT

504

1968-1993

|

505

PG-13503 PG-13504
Axial Joint Axial Joint

Front Front
M14x1,5Rht-L=240mm M14x1,5Rht-L=227mm

|

1968-1993

PG-13504 PG-13503

Axial Joint Axial Joint

Front Front
M14x1,5Rht-L=227mm M14x1,5Rht-L=240mm

10

508

PG-13502 PG-13501

Axial Joint Axial Joint

Front Front Inner
M14x1,5Rht-L=247mm 95560858

381217

in

2010-2018

605

PG-13853

Axial Joint

Front
M14X1,5-L=209mm

3812G3

1989-1999

|

607

CIT-13504

Axial Joint

Front
M14x1,5Rht-L=295mm

96032460

2000-2010

|

PG-13763

Axial Joint

Front
M16x1,5Rht-L=295mm

3812C7

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

181

info@parsrot.com



Rot sy

== Land PEUGEOT
806 1994-2002
|
FT-13743
Axial Joint
e Front Inner
M14x1,5-L=309mm
9566950880
807 2002-2014
| S
FT-13793
Axial Joint
| e —— Front
M14x1,5-L=308mm
77362280
BIPPER 2008-2017
| I
FT-13494
& N Axial Joint
g Front
M14X1,5-L=274mm
55172401

(1.1Q-1.5Q-1.7Q,H-2.0Q ) 2006 after

FT-13813

Axial Joint

(—— T Front

M16x1,5-L=260mm
1359226080

(1.4Q-1.8Q) 1994-2002

FT-13765

Axial Joint

| e —— Front
PowerSteering M16x1,5Rht-L=318mm

9945836

BOXER (1.4Q-1.8Q) 2002-2005

FT-13764

Axial Joint

-— e Ty Front

ManualSteering M16x1,5Rht-L=318mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 9945385 182 info@parsrot.com



—
sy L and

PEUGEOT

EXPERT

2007-2016

EXPERT

FT-13833

Axial Joint

Front
M14x1,5-L=304.7mm

3812F0

224

1995-2006

i

PARTNER

FT-13743 FT-13463

Axial Joint Axial Joint

Front Inner Front Inner
M14x1,5-L=309mm M14x1,5Rht-L=309.3mm

9566950880 9947713

|

1996 after

PARTNER

CIT-13214

Axial Joint

Front
M14x1,5Rht-L=335.5mm

96048214

Il, Tepee

2008-2018

PG-13433

Axial Joint

Front
M14x1,5-L.=254.7mm

3812F4

1st Gen

2010-2015

CIT-13653

Axial Joint
Front

3812F7

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

183

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 184 info@parsrot.com



Rot sy

= Land PONTIAC
G3 2007-2009
I
CH-13203
Axial Joint
g Front
M12x1,5Rht-L=201mm
96535300

TORRENT 2006-2009

CH-13223

Axial Joint

Front
POWER/ELECTRIC

19149839

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 185 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 186 info@parsrot.com



ﬂo[n
= Land PORSCHE

911 993 1994-1997

PO-13303

— Axial Joint

Front
M14x1.5-L=174mm

99334713101

996 1997-2005

PO-13403
Axial Joint

Front
M14X1,5-L=198mm

99634732203

911 997 2005-2012

PO-13413

Axial Joint
Front

99734732201

BOXSTER 987 2004-2012

PO-13413

Axial Joint
Front
99734732201

"
.||
|

I |

CAYENNE 92A 2011-2017

VW-13213
Axial Joint

Front
M16x1,5Rht-L=287,5mm

7L0422821

|

CAYENNE 955 2002-2010

VW-13213

Axial Joint

Front
M16x1,5Rht-L=287,5mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

|

parsrot.com 710422821 187 info@parsrot.com



ﬂo[n
= Land PORSCHE

CAYMAN 987 2005-2013

PO-13413

— Axial Joint

Front

99734732201

95B 2014 after

AU-13830

Axial Joint

Front
M16x1.5/L=236

4G0423810A

PANAMERA 970 2009-2016

PO-13503

Axial Joint
Front

97034713300

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 188 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 189 info@parsrot.com



Rot sy

== Land PROTON
PERSONA 1994-2000
|

PR-13106

Pt Axial Joint

’ Front

M12x1,25Rht

PW550281

2005-2011

PR-13203
Axial Joint

Front
M12X1,25-L=290mm

PW891908

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 190 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 191 info@parsrot.com



Rot sy

mw Land RENAULT
18 GTS 1982-1986
.|

RN-13406

Axial Joint

Front
M14x1,5Rht-L=190mm

|

1978-1981

RN-13407

~ Axial Joint

Front
M14x1,5Rht-L=205mm

7701462877

1991-2001

RN-13507

Axial Joint

Front
M14x1,5-L=259mm

7702145337

1981-1985

RN-13407

Axial Joint

Front
M14x1,5Rht-L=205mm

7701462877

MANAGER 1986-1994

RN-13507

Axial Joint

Front
M14x1,5-L=259mm

7702145337

1984-1993

RN-13417

Axial Joint

Front
L=190mmM14x1,5Rht

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 7701464313 192 info@parsrot.com



Rot sy

= Land RENAULT
456 1962-1987
——
RN-13102
Axial Joint
n:ga' Front
7700656318

1981-2000
|
RN-13202
Axial Joint
Front
M14x1,5Rht-L=280mm
7701462540
CLIO | 1990-1998
|

RN-13703 RN-13713

Axial Joint Axial Joint

Front Front L ———————— T
M14x1,5Rht-L=240mm M14x1,5Rht-L=245.5mm
7701467272 7701469778
|
RN-13713K RN-13717
Axial Joint Axial Joint ‘
Front Front (
CompleteKit M14x1,5Rht-L=246mm withoutpowersteering "":::k
7701469778 7701471124 '7
CLIO | 1998-2005
| |
RN-13718
P Axial Joint
! Front
7701471143
CLIO li-HB 2005-2012
| |
RN-13423
Axial Joint
o e ) Front
M14x1,5Rht-L=305.5mm
7701475841

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 193 info@parsrot.com



Rot sy

mw Land RENAULT
CLIO HI-SYMBOL 2012-2019
|
RN-13783
= Axial Joint
! Front
M14X1,5-L=193mm
485213172R
I-SYMBOL 1998-2012
|
RN-13734K RN-13734
Axial Joint Axial Joint
Front Inner Front e —
M, SRAEL=303mm - R %302.5mm
7701473655 7701473655
|
RN-13733 RN-13714
Axial Joint Axial Joint
Front Front Inner = e
Mn.Steering M14x1,5Rht-L=304mm M14x1,5Rht-L=242mm
7701472113 7701471125
|
RN-13715 RN-13716
Axial Joint Axial Joint
Front Front e —
SMISteering M14x1,5Rht-L=301mm Only:Clio2.016v M14x1,5Rht-L=318mm
7701472734 7701473656
|
RN-13716K RN-13723
Axial Joint Axial Joint
1] Front Front O e——m=
‘ =0 Only:Clio2.016V M14x1,5Rht-L=318mm TRWSteering M14x1,5Rht-L=244mm
7701473656 7701473655
| |
RN-13737
Axial Joint
e c— Front
TRWSteering M14x1,5-L=293mm
7701472735
IV-HB 2012-2019
|
RN-13773
Axial Joint
Front
M14X1,5-L=232mm
485211071R

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land RENAULT
ESPACE | 1984-1990
——
RN-13416
Axial Joint
ﬁ' Front
L=220mm M14x1,5Rht
7700710208
ESPACE I 1991-1996
I
RN-13417
Axial Joint
Front
L=190mmM14x1,5Rht
- 7701464313
ESPACE ]| 1996-2002
I I

RN-13513 RN-13513KM
Axial Joint Axial Joint N\

Front Front
M14x1,5Rht-L=258mm 7701469502

7701469502

ESPACE IV 2002-2014

RN-13663

Axial Joint

Front
M14x1,5-L=248,5mm

7701478552

EXPRESS EXTRA(VAN) 1985-1998

RN-13152

Axial Joint

- ) - Front
M14x1,5Rht-L=252mm

7701465915

FLUENCE 2010-2017

RN-13753

Axial Joint

%\

]I ‘
| |
¥y

Front
M14x1,5-L=210mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com A4154600000 195 info@parsrot.com



Rot sy

mw Land RENAULT
KANGOO 1998-2008
.|
RN-13716K RN-13716
Axial Joint Axial Joint
‘Wl Front Front T —
‘ = Only:Clio2.016V M14x1,5Rht-L=318mm Only:Clio2.016v M14x1,5Rht-L=318mm
7701473656 7701473656
| .|
RN-13727 RN-13728
Axial Joint Axial Joint
T e Front Front s 2
ManuelSteering M14x1,5Rht-L=264mm PowerSteering M14x1,5Rht-L=265mm
7701470764 7701470763
| .|
RN-13733 RN-13734
Axial Joint Axial Joint
- = Front Front L T
Mn.Steering M14x1,5Rht-L=304mm Bﬁ%%%&%rtﬂ_g:%szm
7701472113 7701473655
.|
RN-13734K
Axial Joint
Front Inner
M14x1,5Rht-L=303mm
7701473655
2008 after
.|
RN-13753
Axial Joint
Front
M14x1,5-L=210mm
A4154600000

KOLEOS 2008-2016

NS-13903

Axial Joint

|
e Front

M14x1,5-L=232mm
D8521JG00A

KOLEOS

2nd Gen

2016 after

RN-13773

Axial Joint

Front

* Name of vehicles, models, | ersqa

d others in this document are used for reference purposes only.

ogos, OE nu n
MIANMA B | =222mm.
Mo ==232n

196
485211071R

info@parsrot.com



Rot sy

== Land RENAULT
LAGUNA | 1993-2001
|
RN-13603 RN-13603K
Axial Joint Axial Joint
—-_————————— . Front Inner Front - ‘W’ ~.
M14x1,5Rht-L=265mm M14x1,5Rht-L=265mm
7701469665 7701469665
LAGUNA Il 2001-2007
| |
RN-13653 RN-13653KM
Axial Joint Axial Joint N
@:—l == Front Front J h:
M14x1,5-L=218mm 7701478551
7701472766
LAGUNA il 2007-2015
| |
RN-13903
& N Axial Joint
Front
M14x1.5-L=188mm
485210001R
MASTER | 1998-2003
| |
RN-13473
Axial Joint
w.- Front
' — M16x1 ,5-L=176nc1)m
7701470362
MASTER Il 2003-2010
| |
RN-13473
Axial Joint
@.—- Front
' - M16x1,5-L=176mm
7701470362
MASTER il 2010 after
| |
RN-13493
N Axial Joint
:“j; | ‘ Front

M18X1.5-L=253mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 485212373R

197

info@parsrot.com



Rot sy

= Land RENAULT
MEGANE 1995-2003
|
RN-13510 RN-13513K
N Axial Joint Axial Joint N
Front Front Inner | A ]
TRWSteering CopleteKit M14x1,5-L=259mm ":-::
7701469280 7701469502 T
|
RN-13514 RN-13573
Axial Joint Axial Joint
Front Front p— ==4
1998-1999 TRWSteering M14x1,5-L=285mm
7701471885 7701472087
| |
RN-13573K RN-13574
Axial Joint Axial Joint
:W] Front Front T —
‘ e TRAFIasgComRste, AP Esgboyost
7701472087 7701471844
|
RN-13513KM RN-13513
Axial Joint Axial Joint
Front Front
7701469502 M14x1,5Rht-L=258mm
7701469502

MEGANE

2003-2009

RN-13583

Axial Joint

— m:'- Front
M14x1,5-L=216mm

7701474448

MEGANE

2009-2015

RN-13753

Axial Joint

Front
M14x1,5-L.=210mm

A4154600000

2016 after

RN-13923

Axial Joint

Front
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

485216564R

info@parsrot.com



Rot sy

== Land RENAULT
MODUS 2004-2014
|
RN-13423
Axial Joint
e ) — Front
M14x1,5Rht-L=305.5mm
7701475841
SAFRANE 1992-2000
| |
RN-13643
Axial Joint
Front
M14x1,5-L=291mm
7701469569
SCENIC 1997-2002
| |
RN-13573 RN-13513K
Axial Joint Axial Joint
f— = Front Front Inner
TRWSteering M14x1,5-L=285mm CopleteKit M14x1,5-L=259mm
7701472087 7701469502
|
RN-13574 RN-13573K
Axial Joint Axial Joint
=T e— Front Front W
- ' : o ———
on ORI MRS, TR e samRee
7701471844 7701472087
| |
RN-13513 RN-13513KM
Axial Joint Axial Joint p
Front Front 'f'f
M14x15RNtL=258mm o0 eoros \
7701469502

SCENIC 2003-2009
RN-13583
Axial Joint
-_e—————i = Front
M14x1,5-L=216mm
7701474448

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

RENAULT

SCENIC

2009-2016

RN-13753

— Axial Joint

Front
M14x1,5-L=210mm

A4154600000

1st Gen

2015 after

RN-13933

Axial Joint
Front

485212309R

TRAFIC

1980-1989

RN-13158

Axial Joint

Front
M14x1,5Rht-L=296mm

7701464313

TRAFIC

2001-2014

RN-13654

Axial Joint

)‘

Front
M14x1,5-L=263mm

7701473333

—

TRAFIC

2014 after

RN-13654

Axial Joint

Front
M14x1,5-L=263mm

7701473333

0 ‘

TWINGO ()

1993-2007

RN-13803

Axial Joint

Front
M14x1,5-L.=295.2mm

|

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 7701469517

200

info@parsrot.com



Rot sy

= Land RENAULT
TWINGO Il (CNO) 2007-2014
. |

RN-13803 RN-13863

Axial Joint Axial Joint o

L — Front Front
M14x1,5-L.=295.2mm 7701477878
7701469517

RN-13734K

Axial Joint

Front Inner
M14x1,5Rht-L=303mm

7701473655

LHD 2002-2009

RN-13663

Axial Joint

Front
M14x1,5-L=248,5mm

7701478552

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 201 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 202 info@parsrot.com



Rot sy

== Land ROVER
200 (RF) 1990-2000
|
RO-13203
Axial Joint
=g Front
M14x1,5-L=304mm
GSV1170
25 (RF) 1999-2005
| |
RO-13203
Axial Joint
= — Front
M14x1,5-L=304mm
GSV1170
400 (RT) 1995-2000

]

400

HO-13214 RO-13213
Axial Joint Axial Joint

Front Front
Only:EuroCivic M14x1,5L=163mm Only:400Series M14x1.5-L=137mm

53010SR3010

(XW)

|

1989-1995

|

45

RO-13203

Axial Joint

Front
M14x1,5-L=304mm

GSV1170

(RT)

2000-2005

]

800

HO-13214

Axial Joint

Front
Only:EuroCivic M14x1,5L=163mm

(XS)

1986-1999

]

RO-13303

Axial Joint

Front
M12x1,25Rht-L=132mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

GSV1068 203

5
)
he)
2
w
@
[e]
s
(o)
[o]
3



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 204 info@parsrot.com



Rot sy

g
S
oS

SAAB

2nd Gen

2002-2009

OP-13475 OP-13473
Axial Joint Axial Joint

Front Front Inner
Only:16,17ingJant M14x1,5-L=285mm M14x1,5-L=284mm

1603416 93172256

1st Gen YS3E

|

1997-2002

OP-13442

Axial Joint

Front
Only:ZFSteering M14x1,5-L=344mm

324186

1st Gen YS3E

2002-2010

IR R

900

SA-13413

Axial Joint

Front
M14x1,5-L=286,5mm

5239330

1979-1993

SA-13303

Axial Joint

Front
M14x2Rht-L=266.5mm

8988941

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

205

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 206 info@parsrot.com



Rof m=y
= Land SATURN

ASTRA (H) 2008-2009

OP-13452 OP-13463

Axial Joint Axial Joint

|

ﬁ Front Front
T ing M14x1,5-L=2 ly-ZF- i lisp.18,19incWh
rwSteering x1,5 80mm g)er] yl\%hﬂ?g_rllr;%§8%rtn§usp 8,19inc!
11812
9118128 93181230

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 207 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 208 info@parsrot.com



A
&Ilana' SEAT

ALHAMBRA (7Vv8,7V9) 1996-2010

VW-13753

Axial Joint

Front Inner
M14x1,5-L=182.5mm

7M0422804EF

|

ALTEA Vv 2004-2015

VW-13553

Axial Joint

=" z Front Inner
M16x1,5-L=310mm

1

1K0423810A

AROSA 1997-2004

VW-13902 VW-13903
Axial Joint Axial Joint

Front Front
M14x1 ,5@8%‘2?{3%% ManuelSteering M14x1,5Rht-L=306mm

6N0422803A 6N0419803

u
n

VW-13913

Axial Joint

Front
(withPS,Hydro) M14x1,5Rht

6N0422804C

CORDOBA (6L2) 2002-2009

SE-13403

Axial Joint

|
—————a{ ) Front

TRWSteering M14x1,5-L=320mm
6K0422803F

CORDOBA i 1993-1999

VW-13406 VW-13405

Axial Joint Axial Joint
Front Front
PowerSteering M14x1,5Rht-L=340mm M?ﬂ%'??ﬁ%ﬁ%@%ﬁm

191422721 191419807A

|
|

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 209 info@parsrot.com



A
&Ilana' SEAT

IBIZA | 1984-1993

FT-13405

Axial Joint

Front Inner
ManuelSteering M12x1,5-L=276.8mm

SE022162449S

|

IBIZA ! 1994-1999

VW-13406 VW-13405

Axial Joint Axial Joint
Front Front
PowerSteering M14x1,5Rht-L=340mm M?H%@%ﬁ%ﬁ%%gnﬁ\m

191422721 191419807A

n

FT-13405

Axial Joint

Front Inner
ManuelSteering M12x1,5-L=276.8mm

SE022162449S

1

IBIZA IV(6L1) 2002-2009

SE-13403 SK-13403
Axial Joint Axial Joint

|
-ﬁ Front Front
TRWSteering M14x1,5-L=320mm TRWSteering M14x1,5-L=297mm

6K0422803F 6Q0422804B

|

IBIZA V (6R) 2008-2017

VW-13923

— Axial Joint

Front
M14x1,5-L=313mm

820419810C

LEON (5F1) 2012 after

VW-13553
Axial Joint

- Front Inner

M16x1,5-L=310mm
1K0423810A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 210 info@parsrot.com



Rot sy

== Land SEAT
LEON 1M1 1999-2006
|
AU-13594 AU-13503
N Axial Joint Axial Joint
Front Front Inner e t——f{ ]
8N0422804D Ch.8L-W-050-423-> M14x1,5-L=320mm
1J0422807A
LEON 1P1 2006-2012
| |
VW-13553
Axial Joint
= Front Inner

M16x1,5-L=310mm

1K0423810A
MARBELLA 1986-1992
| |
FT-13704
Axial Joint
ﬂ Front
M14x1-L=142mm
4318655
MARBELLA 1992-1998
|
FT-13708
Axial Joint
Front
M12x1,5-L=192mm
SE141162449A
( KYF) 2011 after
|
VW-13573
Axial Joint
Front
M14X1,5-L=306mm
1S0423810A
RONDA 1982-1988
|

FT-13708

Axial Joint

——
—-ﬁiﬂi Front

M12x1.,5-L=192mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

SE141162449A 211

parsrot.com info@parsrot.com



—
sy L and

SEAT

TOLEDO

I (1L)

1993-1999

VW-13405 VW-13406
Axial Joint Axial Joint

Front Front
Ml\qir)}q%%tﬁfngg%%ﬁq PowerSteering M14x1,5Rht-L=340mm

191419807A 191422721

n

.l‘ ‘
)
|

TOLEDO

VW-13333

Axial Joint

Front
(WITHPS) M14x1,5Rht

6K0422804D

Il (1M2)

1999-2006

|

TOLEDO

AU-13503

Axial Joint

Front Inner
Ch.8L-W-050-423-> M14x1,5-L=320mm

1J0422807A

Il (5P2)

2006-2009

VW-13553

Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

212

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 213 info@parsrot.com



Rot sy

== Land SKODA
FABIA (6Y2) 1999-2006
|
SK-13400 SK-13404
N\ Axial Joint Axial Joint
Front Front —===°
manualsteering KOYOSteering M14x1,5Rht-L=300mm
6Q0419803F 6Q0422804G
|
SK-13403
Axial Joint
Front
TRWSteering M14x1,5-L=297mm
6Q0422804B
N 2006-2014
|
SK-13423
Axial Joint
Front
M14x1,5-L=297mm
6Q0423810C
FELICIA 1994-2001
| |
SK-13302 SK-13303
Axial Joint Axial Joint
D ——— e Front Front i ]
ManuelSteering M12x1Rht-L=356mm PowerSteering M12x1Rht-L=320mm
7350278N 640422807
KODIAQ NS7 2016 after
| |
VW-13233
Axial Joint
Front Inner
561423810
OCTAVIA (1U2) (1U5) 1996-2004
| |
AU-13543 AU-13503
Axial Joint Axial Joint
————{e Front Front Inner ——
CMM?M?F&HWL%%&%% Ch.8L-W-050-423-> M14x1,5-L=320mm
1J0422821A 1J0422807A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 214 info@parsrot.com



A
&Ilana' SKODA

OCTAVIA (1Z3) (125) 2004-2012

VW-13553

Axial Joint

" ] Front Inner
M16x1,5-L=310mm

1K0423810A

1

OCTAVIA S5E 2012 after

VW-13553
Axial Joint

=" : Front Inner
M16x1,5-L=310mm

1K0423810A

1

PRATIK 2007-2015

SK-13423

P~ Axial Joint

Front
M14x1,5-L=297mm

6Q0423810C

ROOMSTER (5J) 2006-2015

SK-13423

Axial Joint

Front
M14x1,5-L=297mm

6Q0423810C

SUPERB (3T4) 2008-2014

VW-13553
Axial Joint

=" : Front Inner
M16x1,5-L=310mm

1K0423810A

1

SUPERB (3U4) 2002-2008

AU-13512

Axial Joint

Front
M14x1.5Rht-L=119,5mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

d

parsrot.com 40422821 215 info@parsrot.com



A
&Ilana' SKODA

SUPERB 3V3 2015 after

VW-13233

— Axial Joint
Front Inner

561423810

YETI (5L) 2009-2017

VW-13553

Axial Joint

e Front Inner
M16x1,5-L=310mm

1K0423810A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 216 info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 217 info@parsrot.com



Rot sy

= Land SMART
FORFOUR 454 2004-2012
. |

MI-13600

P Axial Joint

Front
M12X1,25-L=310mm

FORTWO 450 2004-2006

SM-13113

Axial Joint

Front
M14x1,5Rht-L=357mm

4684006000000

FORTWO 451 2007-2014

SM-13123

Axial Joint

Front
M12x1.5

4514600051

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 218 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 219 info@parsrot.com



ﬂo{”
mw Land SSANGYONG

MUSSO 1999-2005

——
SY-13103

P— Axial Joint

Front
M14x1,5Rht-L=274mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 220 info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 221 info@parsrot.com



Rot sy

== Land SUBARU
BRZ 1st Gen 2012 after
|

SU-13623

N Axial Joint

) ! Front

SU00300832
FORESTER ( SF) 1997-2002
|

SU-13406

Axial Joint

Front

M14x1,5-L=292mm

34140AA040
FORESTER (SG) 2002-2007
| |

SU-13223 SU-13224
Axial Joint Axial Joint N\

Front Right Front Left
M14x1,5-L=302mm M14x1,5-L=298mm

34160AE000 34160AE010

FORESTER (SH) 2008-2014
|

SU-13613

Axial Joint

Front

M14X1.5-L-325MM

34160XA010
IMPREZA (SG) 2002-2007

SU-13224 SU-13223

Axial Joint Axial Joint

Front Left Front Right
M14x1,5-L=298mm M14x1,5-L=302mm

34160AE010 34160AE000

7 %

| ‘
)
F |

IMPREZA GC,GF 1992-2000
| |
SU-13406
= Axial Joint
Front

M14x1,5-L=292mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 34140AA040 222 info@parsrot.com



—
sy L and

SUBARU

IMPREZA

GE, GH, GR, GV

2008-2011

SU-13613

Axial Joint

Front
M14X1.5-L-325MM

34160XA010

SU-13233
Axial Joint

Front Inner
M14x1,5-L=302mm

34160AE001

1984-1995

SU-13112

Axial Joint

Front
M12x1,25Rht-L=220mm

731310140

1995-2003

SU-13112

Axial Joint

Front
M12x1,25Rht-L=220mm

731310140

2003-2006

OP-13173

Axial Joint

Front
M12x1,25-L=239.8mm

4883086G00

LEGACY

Il BD, BG, BK

1994-1999

SU-13406

Axial Joint

Front
M14x1,5-L=292mm

34140AA040

LEGACY

IV BL, BP

2003-2008

SU-13224

|
— Axial Joint

Front Left
M14x1,5-L=298mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 34160AE010

223

info@parsrot.com



Rot m=y
= Land SUBARU

LEONE 2nd Gen 1979-1984

SU-13206

= Axial Joint

Front
M14x1,5-L=254.7mm

731310060

3rd Gen 1984-1992

SU-13306

Axial Joint

Front
M14x1,5Rht-L=287mm

31320GA120

XV 1st Gen 2012 after

SU-13633

Axial Joint
Front

34160SC020

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 224 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 225 info@parsrot.com



Rot sy

mw Land SUZUKI
ALTO -1l 1986-2002
|

SZ-13306

Axial Joint

-_— Front

M12x1,25-L=235mm

4883084000

V (GF) 2009 after

SZ-13333

Axial Joint

Front
M12x1.25-L=272

48830M68K00

BALENO 1995-2002

SZ-13203

Axial Joint

|
_—’ Front
M12x1,25-L=306mm

4883060G00

CARRY (FD) 1999-2013

SZ-13323

Axial Joint

Front
M12x1,25-L=236mm

4883077A00

]

GRAND VITARA 2nd Gen 1998-2005

SZ-13243 CH-13923

Axial Joint Axial Joint

Front Front
M14x1.5-L=227mm 91175548

4883067D01

7 %

| ‘
)
F |

|

GRAND VITARA 3rd Gen 2005-2015

SZ-13263

Axial Joint

Front
M14x1,5-L=343mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

-
[

parsrot.com 4883065J00 226 info@parsrot.com



Rot sy

== Land SUZUKI
GRAND VITARA 4th Gen 2015 after
|
SZ-13513
N Axial Joint
\ Front
_ 4883061M00
IGNIS I(FH) 2000-2003
| |
SZ-13213
N Axial Joint
. \: Front
_ 4883078F01
IGNIS | 2003-2008
| |
OP-13173
Axial Joint
H Front
M12x1,25-L=239.8mm
4883086G00
LIANA ER 2001-2007
| |
SZ-13203
Axial Joint
T Front
M12x1,25-L=306mm
4883060G00
S-CROSS JY 2013 after
|
SZ-13513
Axial Joint
Front
4883061M00
(1IvV) 2010-2017
|
SZ-13443
Axial Joint
Front

M12x1,25
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4885068100 227 info@parsrot.com



—
sy L and

SUZUKI

SWIFT

Il (AH,AJ ) (EA,MA )

1989-2004

SZ-13406
Axial Joint

P —— . = Front
M12X1,25Rht-L=291mm

4883060B00

SWIFT

Il (SG)

2005-2010

SZ-13433

Axial Joint

Front
M12x1,25-L=305mm

4883063J00

|

SX4 (GY)

2006-2013

SZ-13504

P~ Axial Joint

Left
M14x1,5-L=333mm

4883079J10

XL-7

SZ-13503
Axial Joint

Right
M14x1,5-L=333mm

4883079J00

2007-2009

CH-13223

Axial Joint

Front
POWER/ELECTRIC

19149839

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

228

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 229 info@parsrot.com



—
sy L and

SAMBA

|

TAGORA

TALBOT
1981-1986

PG-13501

Axial Joint
Front Inner

95560858

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

230

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 231 info@parsrot.com



Rot m=y
= Land TOYOTA

AURIS | 2007-2013

TY-13703

= Axial Joint

Front
M15X1,5-L=233mm

4551012390

AVALON XX10,XX20 1995-2004

TY-13133

Axial Joint
Front

4550339135

|

AVALON XX30 2005-2012

TY-13213

P~ Axial Joint
| ' Front

4550339275

AVENSIS (T22) 1997-2003

TY-13414

Axial Joint

Front
M14x1,5Rht-L=240mm

4550305020

]

AVENSIS (T25) 2003-2009

TY-13530 TY-13533

Axial Joint Axial Joint

Front Front
Only:1.8Lt. M15x1.5-L=368mm M16x1,5-L=304mm

4550005030 455030R010

|

AVENSIS (T27) 2009-2018

TY-13573

Axial Joint

Front
M16x1.5-L=243mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4550002040 232 info@parsrot.com



Rot m=y
= Land TOYOTA

AVENSIS VERSO 2nd Gen 2001-2009

TY-13583

Axial Joint
Front
4550349105

2005-2014

PG-13173

Axial Joint

Front
M12X1,25-L=224mm

455000H010

XV10 1991-1996

TY-13133

Axial Joint

Front

4550339135

CAMRY XV20 1996-2001

TY-13133

|
Axial Joint
—_—— Front
4550339135

CAMRY XV30 2001-2006

TY-13183

L~ Axial Joint

Front

4550339225

CAMRY XV40 2007-2011

TY-13213

Axial Joint
Front

* Name of vehicles, models, logos, OB RGRRRO26%thers in this document are used for reference purposes only.

parsrot.com 233 info@parsrot.com



—
sy L and

TOYOTA

CARINA

T170

1987-1993

|

CARINA

TY-13423

Axial Joint

Front
M15x1,5Rht-L=239mm

4550329165

T190

1992-1997

|

CELICA

TY-13413

Axial Joint

Front
M14x1,5Rht-L=241mm

4550329615

1999-2005

COROLLA

TY-13633

Axial Joint

Front
M14x1.5,L=302mm

4550349035

E100 Euro Made

1992-1997

|

COROLLA

TY-13103

Axial Joint

Front
PowerSteering M14x1,5-L=321mm

4550319135

E110 Euro Made

1997-2002

|

COROLLA

TY-13104

Axial Joint

Front Inner
M14x1,5-L=333mm

4550319125

E120 Euro Made

2002-2007

|

TY-13603

Axial Joint

Front
M14x1,5-L=270mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

4550319256 234

info@parsrot.com



Rot m=y
= Land TOYOTA

COROLLA E120 Usa Type 2003-2008

TY-13673

= Axial Joint

Front
USAMARKET

4550309400

COROLLA E140 Euro Made 2007-2013

TY-13703

Axial Joint

Front
M15X1,5-L=233mm

4551012390

COROLLA E90 Euro Made 1987-1992

TY-13103 TY-13104

Axial Joint Axial Joint

|

Front Front Inner
PowerSteering M14x1,5-L=321mm M14x1,5-L=333mm

4550319135 4550319125

|

COROLLA Verso 2004-2009

TY-13533

Axial Joint

Front
M16x1,5-L=304mm

455030R010

|

CORONA 1992-1995

TY-13423

Axial Joint

Front
M15x1,5Rht-L=239mm

4550329165

|

ECHO XP10 1999-2005

TY-13320 TY-13323

Axial Joint Axial Joint

|

Front Front Inner

* Name of vehicles, models, logos, o# HERRE2NABthers indRSE530R6K Are used for reference purposes only.

J
/

parsrot.com 235 info@parsrot.com



Rot sy

== Land TOYOTA
HIACE - 111 1983-1995
|
TY-13878
Axial Joint
e Front
Only:Ill M17x1,5-L=276mm
4550329255
HIGHLANDER XU20 2001-2007
| |
LX-13203
Axial Joint
Front
M16x1.5-L=245mm
4550309270
HILUX Il 2WD Pick-Up 2005-2015

TY-13253 TY-13253

Axial Joint Axial Joint

!
/

Front Front
M15X1,5-L=294mm M15X1,5-L=294mm

4550309331 4550309331

INNOVA AN40 2005-2015
| |
TY-13543
= Axial Joint
Front
M15x1.5-L=295.8mm
4550309350
IQ 2009-2016
| |
TY-13650
= Axial Joint
Front
4550374010
LAND CRUISER J100 1998-2007

TY-13163 TY-13143
Axial Joint Axial Joint
Front Front Inner

* Name of vehicles, models, logos, O& RERRRZONE B thers indDSORGRBR Bre used for reference purposes only.

|

parsrot.com 236 info@parsrot.com



Rot m=y
= Land TOYOTA

LAND CRUISER J120 2003-2010

TY-13153

Axial Joint
Front
4550339235

|

LAND CRUISER J200 2008 after

TY-13783
Axial Joint

Front
M22X1,5-L.=233MM

4550360030

LAND CRUISER PRADO J150 2010 after

TY-13793

Axial Joint

Front
M16x1.5/L=261MM

4550360040

MATRIX ZZE132 | ZZE133 2002-2008

TY-13373

Axial Joint

Front
M-15X1,5-L=273mm

4550301030

]

PICNIC 1st Gen 1996-2001

TY-13423
Axial Joint

Front
M15x1,5Rht-L=239mm

4550329165

|

PREVIA XR10, XR20 1990-2000

TY-13733

Axial Joint

Front
M14x1.5/L=2015MM

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4950329295 237 info@parsrot.com



Rot sy

= Land TOYOTA
PREVIA XR30, XR40 2000-2006
. |

TY-13271 TY-13272
Axial Joint Axial Joint
Front Right Outer Front Left Outer
4546059115 4547059135

TY-13723

o~ Axial Joint

Front
L=235/M15X1,5

4550329765

XwW20 2003-2009

TY-13963

Axial Joint
Front

4550347030

QUALIS F60, F70, F80 1997-2004

TY-13993

Axial Joint

Front
M14x15-L=296mm

RAV4 XA10 1995-2000

TY-13403

Axial Joint

Front
M14x1,5Rht-L=318,1mm

4550319215

|

RAV4 XA20 2000-2005

TY-13503 TY-13504

Axial Joint Axial Joint

Front Front
M15x1,5Rht-L=298mm M15x1,5Rht-L=298mm

4550349165 4550349055

]
|

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 238 info@parsrot.com



Rot sy

== Land TOYOTA
RAV4 XA30 2005-2012
|

TY-13523

N Axial Joint

\ Front

_ 4551042030
SEQUOIA 1st Gen 2000-2007
| |

TY-13953

N Axial Joint

. \: Front

_ 4550309120
SIENNA XL10 1998-2003
| |

TY-13133

Axial Joint

—_— e Front

4550339135
SIENNA XL20 2003-2010

TY-13272 TY-13271
Axial Joint Axial Joint
Front Left Outer Front Right Outer
4547059135 4546059115

LX-13203

o~ Axial Joint

Front
M16x1.5-L=245mm

4550309270

2nd Gen 2004-2008

TY-13183

Axial Joint
Front

4550339225

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 239 info@parsrot.com



Rot sy

== Land TOYOTA
SOLARA XV20 1999-2003
|
TY-13133
Axial Joint
= e Front
4550339135
STARLET P80 1989-1996

TY-13113 TY-13114

Axial Joint Axial Joint

7N
|
I‘I ‘
|
F |
r 4

Front Front
M12X1,25-L=287mm 4550319195

4550319195

TRUENO 1995-2001

TY-13193

Axial Joint

Front
M14X1,5-L=160mm

4550319225

TUNDRA 1st Gen 2000-2007

TY-13953

Axial Joint
Front
4550309120

"
.||
|

I |

(P1) 1999-2005

TY-13323 TY-13320

Axial Joint Axial Joint
Front Inner Front

4550352010 4550352030

M
7\
I“ ‘
|
F |
r

(P9) 2005-2010
|
TY-13333
Axial Joint
Front

M14X1.5-L=239mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4950352070 240 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 241 info@parsrot.com



PowerSteering M12x1,25-L=278mm

* Name of vehicles, models, logos, BOE numbers and others in this document are used for reference purposes only.

322158

242

Rof
= Land VAUXHALL
ASTRA 1998-2006
|
OP-13452
Axial Joint
—,_—’ Front
TrwSteering M14x1,5-L=280mm
9118128
ASTRA COUPE 1998-2006
| |
OP-13452
Axial Joint
-ﬁ Front
TrwSteering M14x1,5-L=280mm
9118128
CORSA 1997-2000
| |
OP-13143
Axial Joint
— il Front
PowerSteering M12x1,25-L=278mm
322158
CORSA COMBO 1997-2000
] |
OP-13147
Axial Joint
——i Front
ManuelSteering M12x1,5-L=322mm
322155
NOVA 1982-1993
| |
OP-13113
Axial Joint
d——’ Front
M12x1,5Rht-L=296mm
322149
TIGRA 1997-2001
| |
OP-13143
Axial Joint
" ] Front
info@parsrot.com

parsrot.com



ﬂo[n
= Land VAUXHALL

VECTRA 1996-2002

OP-13442

Axial Joint

Front
Only:ZFSteering M14x1,5-L=344mm

324186

|

ZAFIRA 1999-2005

OP-13452

Axial Joint

Front
TrwSteering M14x1,5-L=280mm

9118128

]

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 243 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 244 info@parsrot.com



Rot sy

== Land VOLKSWAGEN
BEETLE 9C1, 1C1 1998-2010
|
AU-13503 AU-13543
Axial Joint Axial Joint
e —— T Front Inner Front ———-{
Ch.8L-W-050-423-> M14x1,5-L=320mm ﬁqﬂqgﬁhtvly;%%%#‘%
1J0422807A 1J0422’821A
BEETLE A5 2011 after
|
VW-13233
Axial Joint
Front Inner
561423810
il 1994-2001
|
VW-13333
Axial Joint
Front
(WITHPS) M14x1,5Rht
6K0422804D
CORRADO 531 1987-1995
| |
VW-13406
Axial Joint
*__4=.=' Front
PowerSteering M14x1,5Rht-L=340mm
191422721
CRAFTER 2006-2017
| |
MB-13733
Axial Joint
—iie Front
9064600055
CRAFTER il 2017 after
| |
VW-13433
= Axial Joint
Front

* Name of vehicles, models, logos, OEANMEZ3BUQthers in this document are used for reference purposes only.

parsrot.com 245 info@parsrot.com



Rot sy

ManualSteering M14x1,5Rht-L=397mm PowerSteering M14x1.5Rht-L=370mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

1H0419821 246 1H0422821

= Land VOLKSWAGEN
EOS 2006-2016
|
VW-13553
Axial Joint
—— - Front Inner
M16x1,5-L=310mm
1K0423810A
EUROVAN T4 1990-2003
| |
VW-13703 VW-13706
Axial Joint Axial Joint
_=* Front Inner Front Inner e
M16x1,5-L=294mm M16x1,5Rht-L=294.7mm
701419810 702419803D
GOL 2002-2010
| |
VW-13213
Axial Joint
— — . Front
M16x1,5Rht-L=287,5mm
7L0422821
GOLF MK1/A1 1974-1984
] |
VW-13302
Axial Joint
=0-==#'° Front
M14x1,5Rht-L=343mm
171419821A
GOLF MK2/A2 1983-1992
| |
VW-13406 VW-13405
Axial Joint Axial Joint
e~ ] Front Front —— e LD
PowerSteering M14x1,5Rht-L=340mm M?Hg?lgﬁ%ﬂg@%ﬁm
191422721 191419807A
GOLF MK3/A3 1991-1998
| |
VW-13505 VW-13506
Axial Joint Axial Joint
=T Front Front ==o-===#°
info@parsrot.com

parsrot.com



—
sy L and

VOLKSWAGEN

GOLF

MK4/A4

1998-2003

AU-13594 AU-13543
Axial Joint Axial Joint
Front Front
eN0422804D A SRR LA

1J0422821A

n

GOLF

AU-13503

Axial Joint

Front Inner
Ch.8L-W-050-423-> M14x1,5-L=320mm

1J0422807A

MKS5/AS5

2003-2009

1

GOLF

VW-13553

Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

MKG6/A6

2009-2012

1

GOLF

VW-13553

Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

MK7/MQB

2012 after

1

GTI

VW-13553

Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

MKS5/AS5

2006-2009

1

VW-13553

Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

247

info@parsrot.com



Rot sy

= Land VOLKSWAGEN
JETTA IV(162) 2010-2017
|
VW-13553
Axial Joint
S Front Inner
M16x1,5-L=310mm
1K0423810A
JETTA MK1/A1 1974-1984
| |
VW-13302
Axial Joint
) # Front
M14x1,5Rht-L=343mm
171419821A
JETTA MK2/A2 1983-1992
| |
VW-13405 VW-13406
Axial Joint Axial Joint
—— e D Front Front “__*=.
Ml\qir;(qaé%tﬁgngg%%ﬁn PowerSteering M14x1,5Rht-L=340mm
191419807A 191422721
JETTA MK3/A3 1991-1998
| |
VW-13505 VW-13506
Axial Joint Axial Joint
— Front Front ==F===P°
ManualSteering M14x1,5Rht-L=397mm PowerSteering M14x1.5Rht-L=370mm
1H0419821 1H0422821
JETTA MK4/A4 1998-2003
| |
AU-13503 AU-13543
Axial Joint Axial Joint
e t——{ 1> Front Inner Front —_———Ts
Ch.8L-W-050-423-> M14x1,5-L=320mm &qg(c%g'ghvli/;%% r?n?nz
1J0422807A 1J0422821A
JETTA MKS5/A5 2005-2010
| |
VW-13553 VW-13553
Axial Joint Axial Joint
=M Front Inner Front Inner ="

M16x1,5-L=310mm M16x1,5-L=310mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

1K0423810A 248 1K0423810A



—
sy L and

VOLKSWAGEN

LT

28-35-46, Typ 2D

1996-2006

MB-13703

Axial Joint

Front
M16x1,5Rht-L=388mm

9014600455

|

1998-2005

VW-13913

Axial Joint

Front
(withPS,Hydro) M14x1,5Rht

6N0422804C

VW-13903

Axial Joint

Front
ManuelSteering M14x1,5Rht-L=306mm

6N0419803

VW-13902

Axial Joint
Front
M14x1, SRS S15HInG,

6N0422803A

PASSAT

3G2

n

2014 after

VW-13233

|
— Axial Joint

Front Inner

561423810

PASSAT

B3, B4

1988-1997

VW-13451

Axial Joint

Front
M14x1,5Rht-L=370mm

357419821

|

PASSAT

VW-13452
Axial Joint

Front
M14x1,5Rht-L=359mm

357422821

B5, B5.5

|

1997-2005

AU-13512

Axial Joint

Front
M14x1.5Rht-L=119,5mm

4D0422821

d

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

249

info@parsrot.com



—
sy L and

VOLKSWAGEN

PASSAT

2005-2010

VW-13553

Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

1

PASSAT

2010-2015

VW-13553

Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

1

PHAETON

2002-2016

AU-13812

Axial Joint

Front
M16x1,5Rht-L=127mm

4E0419821

(6N1)

1994-2001

VW-13902

Axial Joint
Front
M14x1 SR ESTBEG,

6N0422803A

VW-13903
Axial Joint

Front
ManuelSteering M14x1,5Rht-L=306mm

6N0419803

n

VW-13913

Axial Joint

Front
(withPS,Hydro) M14x1,5Rht

6N0422804C

VW-13333
Axial Joint

Front
(WITHPS) M14x1,5Rht

6K0422804D

(6R)

2009-2017

VW-13923

Axial Joint

Front
M14x1,5-L=313mm

820419810C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

250

info@parsrot.com



Rot sy

== Land VOLKSWAGEN
POLO (9N) 2001-2009
|
SK-13400
o Axial Joint
Front
manualsteering
6Q0419803F
POLO AW1 2017 after
| |
VW-13933
& N Axial Joint
{ : Front
2Q0423810D
POLO CLASSIC 1995-2001
| |
VW-13406
Axial Joint
“__4=.=. Front
PowerSteering M14x1,5Rht-L=340mm
191422721
Rabbit MK1/A1 1974-1984
| |
VW-13302
Axial Joint
=0-==#'° Front
M14x1,5Rht-L=343mm
171419821A
Rabbit MKS5/A5 2003-2009
| |
VW-13553
Axial Joint
B e Front Inner
M16x1,5-L=310mm
1K0423810A
SHARAN (7N) 2010 after
| |
VW-13553
Axial Joint
—— Front Inner

M16x1,5-L=310mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

1K0423810A 251

info@parsrot.com



ﬂo[n
= Land VOLKSWAGEN

SHARAN (7M6,7M8,7M9) 1995-2010

VW-13553 VW-13753
Axial Joint Axial Joint

=" z Front Inner Front Inner
M16x1,5-L=310mm M14x1,5-L=182.5mm

1K0423810A 7M0422804EF

1

|

TIGUAN 1st Gen 2007-2016

VW-13553

Axial Joint

=" z Front Inner
M16x1,5-L=310mm

1K0423810A

1

TIGUAN AD 2016 after

VW-13233

A, Axial Joint
| ' Front Inner

561423810

TOUAREG ( 7LA,7L6,7L7) 2002-2010

VW-13213

Axial Joint

|
_— ' Front

M16x1,5Rht-L=287,5mm
7L0422821

TOURAN (1T1,1T2) 2003-2010

VW-13553

Axial Joint

B e Front Inner

M16x1,5-L=310mm
1K0423810A

TOURAN (1T73) 2010-2015

VW-13553

Axial Joint

=M Front Inner

M16x1,5-L=310mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

1K0423810A 252

parsrot.com info@parsrot.com



—
sy L and

VOLKSWAGEN

TRANSPORTER

T3

1979-1992

|

TRANSPORTER

VW-13606

Axial Joint

Front
M14x1,5-L=378mm

251419821

T4

1990-2003

|

TRANSPORTER

VW-13706 VW-13703

Axial Joint Axial Joint

Front Inner Front Inner
M16x1,5Rht-L=294.7mm M16x1,5-L=294mm

702419803D 701419810

T5

||

2003-2011

d

TRANSPORTER

VW-13733

Axial Joint

Front
M16x1,5-L=175.5mm

7H0419804C

T5, facelift

2011-2016

d

TRANSPORTER

VW-13733

Axial Joint

Front
M16x1,5-L=175.5mm

7H0419804C

T6

2016 after

d

Up!

VW-13733

Axial Joint

Front
M16x1,5-L=175.5mm

7H0419804C

2011-2016

J
/

VW-13573

Axial Joint

Front
M14X1,5-L=306mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

1S0423810A 253

info@parsrot.com



ﬂo{”
= Land VOLKSWAGEN

VENTO MK3/A3 1991-1998

VW-13505 VW-13506

Axial Joint Axial Joint

|
Front Front ==O-===k°
ManualSteering M14x1,5Rht-L=397mm PowerSteering M14x1.5Rht-L=370mm

|

1H0419821 1H0422821

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 254 info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 255 info@parsrot.com



Rot sy

= Land VOLVO
240 1974-1993
.|
VOL-13206 VOL-13207
Axial Joint Axial Joint
o — - Front Inner Front Inner — =
M14x2Rht-L=270mm CamgearZF-Type M14x2Rht-L=274mm
1205659 3530167
| .|
VOL-13208
Axial Joint
—=. Front
Camgear M14x2Rht-L=284mm
1272947
260 1974-1993
| .|
VOL-13208 VOL-13207
Axial Joint Axial Joint
g. Front Front Inner -*G-
Camgear M14x2Rht-L=284mm CamgearZF-Type M14x2Rht-L=274mm
1272947 3530167
| .|
VOL-13206
Axial Joint
_—.. Front Inner
M14x2Rht-L=270mm
1205659
740 1981-1992
| .|
VOL-13100 VOL-13102
Axial Joint Axial Joint
Front Inner Front e ——
M14x2-L=293mm Camgear M14x2-L=295.5mm
271389 1359347
.|
VOL-13103
Axial Joint
c_z—’ Front
Steering M14x2-L=309mmZF
9140504
760 1981-1992
| .|
VOL-13103
Axial Joint
<_:_’ ) Front .
* Name of vehgles, rrJodeIsK Illggj)\s’,”OIEEgrRl‘)\e’Eingé)thers in this document are used for reference purposes only.

e G vz

parsrot.com

256
9140504

info@parsrot.com



Rot sy

mw Land VOLVO
760 1981-1992
|
VOL-13102 VOL-13100
Axial Joint Axial Joint £
| — — Front Front Inner !
Camgear M14x2-L=295.5mm M14x2-L=293mm
1359347 271389 ’

940 1990-1998
| |
VOL-13100 VOL-13102
Axial Joint Axial Joint

Front Inner Front | ——
M14x2-L=293mm Camgear M14x2-L=295.5mm
271389 1359347
|
VOL-13103
Axial Joint
c__’ Front
Steering M14x2-L=309mmZF
9140504
960 1990-1998
| |
VOL-13103 VOL-13102
Axial Joint Axial Joint
e —— —; = Front Front s — —
Steering M14x2-L=309mmZF Camgear M14x2-L=295.5mm
9140504 1359347
| |
VOL-13100
Axial Joint
Front Inner
M14x2-L=293mm
271389
C30 2006-2012
| |
FO-13463
Axial Joint
_. Front Inner
M16x1.5,L=293mm
1377655

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

VOLVO

C70

1996-2000

:

S40

VOL-13523 VOL-13803
Axial Joint Axial Joint

Front Front
SMiSteering M14X2-L=177mm TRWSteering M14x2Rht-L=177mm

9191410 3546266

1(VS)

|

1995-2003

|

S40

VOL-13453 MI-13703

Axial Joint Axial Joint

Front Front
M14x1,5Rht-L=315.3mm M12x1,25-L=310mm

274224 MR244901

Il (MS)

|

2004-2012

|

S60

FO-13463

Axial Joint

Front Inner
M16x1.5,L=293mm

1377655

1st Gen

2000-2010

|

S60

VOL-13663

Axial Joint

Front Inner
M14x1,5-L=121mm

274353

2nd Gen

2010-2018

FO-13973 FO-13393

Axial Joint Axial Joint

Front Front
M18x1,5-L=315mm Europenmade,(Electicpowersteering)

6G913280AB DG9C3D032BA

)
/

VOL-13823

Axial Joint

Front
(Servotronicsteering)

31451036

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

258

info@parsrot.com



—
sy L and

VOLVO

S70

1996-2000

|

S80

VOL-13803 VOL-13523
Axial Joint Axial Joint

Front Front
TRWSteering M14x2Rht-L=177mm SMISteering M14X2-L=177mm

3546266 9191410

I(TS,XY)

1

1998-2006

VOL-13663 VOL-13643

Axial Joint Axial Joint

Front Inner Front
M14x1,5-L=121mm (SMiSteering) M14x1,5-L=123mm

274353 274179

|4

S80

VOL-13653
Axial Joint

Front
Only:2.0Lt. M14x2-L=133mm

272428

Il (AS)

N

2006-2016

|

V40

FO-13973

Axial Joint

Front
M18x1,5-L=315mm

6G913280AB

(VW)

1995-2004

|

V40

MI-13703

Axial Joint

Front
M12x1,25-L=310mm

MR244901

2012 after

|

FO-13463

Axial Joint

Front Inner
M16x1.5,L=293mm

1377655

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

259

info@parsrot.com



Rot sy

== Land VOLVO
V50 2004-2012
|
FO-13463
Axial Joint
_’ Front Inner
M16x1.5,L=293mm
1377655
V70 3rd Gen 2007-2016
| |
FO-13973
Axial Joint
- Front
M18x1,5-L=315mm
6G913280AB
V70 | 1996-2000

|

V70

VOL-13803 VOL-13523
Axial Joint Axial Joint

Front Front
TRWSteering M14x2Rht-L=177mm SMISteering M14X2-L=177mm

3546266 9191410

Il (P80)

1

2000-2007

]

XC60

VOL-13643

Axial Joint

Front
(SMiSteering) M14x1,5-L=123mm

274179

2008-2016

VOL-13823 VOL-13683

Axial Joint Axial Joint

Front Front
(Servotronicsteering) M18X1,5-L=330mm

31451036 31280409

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

260

info@parsrot.com



* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 261 info@parsrot.com



Rot sy

= Land YUGO

101 ZASTAVA SPORT 1969-1986

FT-13708

Axial Joint

Front
M12x1,5-L=192mm

SE141162449A

1

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 262 info@parsrot.com






